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1 '6tpp' - ereingr Cl+neire6lain ulgup o otu-
r-9lar&oerr6 p1ge.

(A) 6lu$9 + er
(B) 6lu + $($) + p
(C) 6L+$+p+er
(D) 6lu+$(D)+5+.er

2 efl@uul- ClenSseocnd eain@Glq&e6q[)

6l,r$pgra GunorLb sn&seir

GpSpnpni Lonr--@

(A) +npGa;, $l6orroqrn
(B) eun1j;pGo, opppgld
(C) mpGa-r, eora9lgrLb

(D) sn$pGol, $einorLoqtb

Cle$pnLoor6 -+ @&GeneilaSlein efl urn6r
qarrrt&Cl o9l$eorcr1b GpngGlp@r;aeqrb :

(A) rr.gGunpeb + @anr6leeb

(B) r+EGunpeb + g$$r-eir
(C) r-rgGunpel + peinGlarnfg 6fuL-eir
(D) mEGunpeil + greinafleiirp Glo u-r

Sfipoi,

gDrlainu@ Glou,rd:arLo eroinp Glard, e-ffitii6t-
6r5t u ngt ? sltluJ n6n or9lenuanuiB cn6ins.

(A) grarru Oa.rg Guno goTainuL-np
Glo ur rian Lo

(B) @[ai.nuL-npg1 Gunel 4prainu@6lp
6l Lo u-r Lbor o

(C) @rain Glpnorr- Glpn@6eu ClugLb
6lLouLboro

(D) er$lri& 6lenei-reune eqorou:u GluglLb

Clour6oro

3
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PART. A

5 Clunrndsrs :

€)16D6{B6h

(er) Gp,t Gpn flar6
(+) 6-r ponT Gpn

(6) 6t*,r Gpf Gpn

( r'r ) Gmi rflaon rfiann

o.rnrirun@

(1) qaflLonrusnu.t

(2) *'er9lon rir e afl

(3) Gponnreafl

(a) aga8enrusnu..r

(5) Gponrfusnu-r

(A)

(B)

(c)
(D)

(.gt) (+)(0) (n)
(3) (1) (4) (s)

(4) (2) (1) (3)

(3) (4) (2) (1)

(3) (4) (1) (2)

6 6lengeoren @q9ru6uGpd 6cn$G1pnr--
r1n&lgpeil :

ornonp $taoo&1g pr6lgn $ugrain@
pafl$p uainu nr-rq6i)

(A) eunorp @olo&g uafun-.rnr--ryn prflpt'
paflpp $luCpain@

(B) arrnorp $arro6(g paflpp uairrunr--rjei-r

@ugoain@ pr-6lpri

(C) pr.6lpn uai,rn:ru-4el o.rnop Sarm;&4qb
paflpp $tL-GD6in@

(D) pdlgi paflrp uairn-.rm-Lqitu 6LOD6drr0
eunorp $anar&qg.

8p*sainr- 6lpnuft erporanr*; 15flidlpgl ?

Gluna&qdlpg Claru9len.

(A) erqgornu:$ Clpnr--ri

(B) er9laoenrLorilmr& Glsnrri

(C) eflafl$ 6lpnuri

(D) Cluu:C17&+g Glpnrri

7
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9

8 'LDtlgJElpgJ dleirp $aflu 6!n66D6Tu-l-

rein eun' - $t$Glpnrrfleil Gsnqr--u Clena;

creler9l$luurl qonn$5teirorg ?

(A)'e-u9lriourfleir z&1gpeir GltoOe6lL-@

@G6'

(B)'p-ueirGtoeb e-u91rio:$g e6irg6,19l
$u..rcbGu'

(C) " 'a), 6r'GorSgooou9leb'p, r.-'6q6"

(D) 'oei:o9E eppdp5 e-u9lfg guueq6'.

erorLo&eqg&lglflur sr-oroseir eror, "peing,

5O, 66rp-p gTnu.rpeb; erglLor@dleinfl
€{6inq6, gp@t6 p6lpngl on6s Geuain

96" oeing g$1ur9l@Lb ertue gneb erg ?

(A) ro5torq& on(661

(B) Llp,Dngrrg

(C) eerSl$Glpnolo

(D) 4lg unerrnpgu uanu

10. "e-orrieq Cl u nrirdl eeElaop uorudlgLb
Gprrrfu eofl eb pi6Dr-rurr6 a9lonrfu lgtb u.rnuq

eroflpns eu rqo-rLb Glsneiror er9l$ p r--r--

ser9lrgri u:nri ?"

(A)

(B)

(c)

(D)

pugparnf

$enrfuGoneu qseir

unTp unri

u n7$pnueiir
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l1-. porpnor $aoarrorur$ Gprial Gl+u.rs :

(A) ereirGlongflp; - Cleuuqler--orr
Glpnerra Guflornri

(B) uainr-lp - er.ruupGlpnr-rq

Clpnors

(C) ua.raro$ - gg6qg r.Sore

Gpnene au$pnt

(D) uLbano$ - etcrdraffi6itr

Glpnore pr'bLql

12, sflurn66r eflorL-oou:$ Gprial Gleu:e :

(1) ron.Glun. CleugnorLb 6lo6q& Gl+eirorn

ereinE Gun1ipuu@uorri.

(2) eLL- GLDo6Dor$ panareuqnsu upei9l

ordl$glehcnnri.

(3) unrTp oemfl, 6lqno enuSlu.l6ir qdlur
$ppsanrir umfl q ifl$pnn.

(A) e'pg (1) Lo@ELb (3) eifl

(B) *'fg (r), (2) +rfl

(c) &'pg (3) or-@6 efl

(D) &'pg (1) or--@6 erfl

13. ar@euqe$&8 eterfl6gu Glunlg$pLonan

lgporen& e ainrflo :

(A) Gparri elanoru.rri su:eurt ela4gdpnLb

Goor ar Gl+ruGlpnqgs eunein.

(B) 6lsn6bo.t[r uuainu@orri e neinGpnri

algLbqGuno

Glsneba.ru u u:einu @ r-b Ep.

(C) LoBsGen Gunebar.ri suJerrft €t6! [6ir6r

gtuunrfl u ndsainr- $o.
(D) s6ur-91@Lbo,u Sei:o:nor76 cnarflein

$lrur9l@6oru
crebontb A114rEiO 6le@6.
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74. 6lung$ge

(+) ur9t<qd Clugrnp (2)

or9loraru ug$l

(1) 1grpafleoo
pn$p ctpr$|fl
Gluu-rt

or9lrsd) Clurirm

Clsn16lrhGlu u ri

(4) a9l6$1 Clugrnp

Glsnr-6lrhGlu uri

(6) csG, rcG (3) g:paflora;ii;
6lpngllpCluu:rt

(") 6T6[r,5r6Dl'D,

$rLb, unelr

e-auri$prLoeir

6u(96ugt

(s) Glpng![Gluun

(et) (+)(6) (")

(A) (2) (3) (1) (s)

(B) (4) (2) (3) (1)

(c) (3) (s) (4) (2)

(D) (2) (4) (s) (1)

15. gteirannp Cioeir pn1i1arno ar66

u:nu0ein gane - u ngt ?

(A) se6lu u n

(B) euqgdluun

(C) Clarainun

(D) gSrflu:uun
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(D) $lorarr ar.rqgeuano$

P.T.O.

"t5. Clunqg$grs

(er) dlorpu.ln
peiirGlLony!

(1) Lo9lo16&

enqi58

5

(+)r9lpn GpnqLb (2) qDpr@ng
sLb Grnnur

Gu nei.r

($) Cleetuar$Ou (3) sspn@rrg
uuGor mpat

(m) priirgLb $916 (4) eo5lpGlpnane

+urpgtb
(s) Fpdloror

(.q) (q)(6) (')

(A) (3) (2) (s) (4)

(B) (1) (3) (4) (2)

(c) (s) (4) (2\ (1)

(D) (2) (s) (3) (4)

17. g,i 6.p6pg arlgueuiflein or(g6).E6Dru

zgp Cleu..rqLb 61ungu@ euqgorneB
*.E6 euqgororo$u5l<i'r Cluu.rri ur5l ?

(e) 6u arqgouano$)

(B) e neu alqgor oro$l

(C) unei: a.rqgouanop

(et) e6la.lenur rq

o61g$lqrein
Geterlsr



18. aiflurnor &'D6,pp Gpn$Gp@rncalLb :

(1) 'fivp orfl unB 5[5P5J'6r6irp
urnmnornrhmu u nrar ro-u9leil gngLb

creinp Gleno Sr-LbGugdlpgr.

(2) Claruu$e n6$$eb onpo9l grqu.r
u$ Glarnlryer.rane gL-oeofl eir 1gL-&
*'$gr oeingr +Lgtb 19flur-9lL-u-
uO6l.Dgt,

(A) &,pE (1) Lor-@Lb erfl, (2) -org a'fE
aB6l mt

(B) e.pp (1) Lopgtb (2) -rn erfl

(c) s*pg (1) Lo[96 (z) -,b p*g
(D) &,.pg (2) Lou@Lb e/fl, (r) -a.rg aSg

aE6J mt

79. unouorGrJE Glugqidl96l[6rffi ein safl]enE
(Clpng$l -t ) GlpngurSlcrSlg$gr OCU GorE
poralur9lo p-eiror u nreirseir erg] ?

(A) unar9lu6Glon$gl, EtgrndllfluLb

(B) eaflrieng, erai,nseoorl eranrugt

(C) Looqg ar@61, ueirofl u upara.rseh

(n) pr6l$$pnu: aun$$gr, go$g$Gpn6
unain@Lb

20. '€r+66iT 6Gr erCUql"' - u:nri' u:nrfluLb

*.$lu:gr ?

(A) etgLbup e-anlanyrt et+urnftg,
peiraxrflL-Lb &'flurgt

(B) .aqunf61g peilatrft .ag6up
c-or ysnTrfl uLb &.d'l uJgt.

(C) $enrirGener.rraseir 8$pano& en$p-
arnflL-Lb &.0 urgj

(D) 8$parn& en$porni SenrirGsneurq-
coflr-Lb &.dlu.rg.
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21. 'on' - creinp GlenebaSldn $tg Glunlgeir pqge

(A) onopLb, sirbLon

(B) elLbLon, g

(C) 6lulflug, a,9lortu1g

(D) 6$lurg, palb

22 6ur.-r.-rtr 6lLong!, Clsn&eoe 6long!,
r9lpGlong! Cl+nfieeir Su66lugrnp
Glp nulfl ooar6 sainufls.

(A) ereinGlanru rilrlain@ auoruu.'rn ereinEl

6luu:t snGeugo u rq&anein.

efl @ gorpr;6 oup$l qg&s nein

(B) crein painuein auoruu.lnoingt Cluurri

aeugffi uEldD urqlClgrnein. or9l@Op6ngxr{g

ar$$g6e rein

(c) crein pmruein auoou u.l n oeingrLb

Glu u:lganuur o.r ein seirgf flu9leb urq&-

Seingrnein. a9l@gangr61g or$greirornein.

(D) ereir pouru ein &u 6rr u u n er eingt Lb

Cl u u:lganruroein snGeu2|a.r urq6-
Cleinpnein. a9eq6g er:$greirornein.

6

23. "Guno& Gleu-rpeir" uerrq er6eanatu9lein

guuLb ?

(A) qa5l guuLb

(B) Gunu:tcno 6$ory quub

(C) puunut-d:

(D) sysnur--Lb



24. 61gu:an$pein uoouli qsgeir $lanTuuu-
Loneo uaruuq erSl ?

(A) sngdg grE Gun

(B) g19LSr--Lb

(C) gO r-9lrq Geng

(O) $<irg1rjl g1g Gluainmflein oarp

25. "sifle6b n aineofl ein or n$
61. rlngpnTnuarrgr&g

Bosoru.r".....
go6i,r 6rgpp

L6trT6D66IU

6lpnl-rfu 61u.r uorL-rlunofl u..rnrt ?

(A) un. Clau:ur-9lqeneb

(B) $rocrfl

(C) @. .srp6liflenr6l

(D) Gen. pioeir

26. 'r-9lorpurn peinGl ongil' oeing a.rnu:anoenurri

*'grj: ryteil og ?

(A) 6<O,irqpGi'

(B) pp06ttrr

(c) aEroggflg
(D) qp,Dn@[01

27. 6lun1g$prflelonpanpt oainr--fls.

(A) SEreorp$ - $afluqLb
Glpnlguq orfluqLb

(B) pnauo - qpur

(c)

(D)

6Erbq$lorLb

Ll6@r6

arrlruq56rT

r-9lqoru: ub

GAT 2023 / A
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28. seira9lqLb, GleebeugoLb 6lu$p Cluai'noeh

aSrrnrisrLb Gl+u.roupneri sLbun

qgflur-9lu@airornri

(A) rD(Ep56

(B) n ore qtb

(c) +ppgjb
(D) uS,rCp6

2s. 6q9l5penfloosqon qgflur-91@tb gbGlugru-
cnuLgluJ alerr u l.1gp6Dp urngl ?

(A) 6louu$snry6, toarflGos6Dal, 8dc-
fl$pnioarfl , arLarenu-r nu$, qgatrL-o -

Gs8

(B) &uedl$pnLoeofl , 6la:uu$arytb, oerfl -

Gtosano:, a.reooru nu$I, lgorreuGsfl

(C) Souu$1ory6, CauCl;bginoamfl, romfl-

Gosaral, qgarrualGedl, er.rororu nu$

(D) Oouu$lsnqLb, euenoru.rnu$, Loarfl -

GLosarar, lgainua.rGodl, foua8$pn-
oerfl

30. (g0al - Glprqeir Lonf pLb e-emn$5,
Ge nqr--L- Glenf oqgtlgu 61 u n1g$pro nor

Glun19orcn$ Gprie.

er afl ornofl

(A) orer5l$pci;

fBl snrilrnr

(C) 6npg

(D) o6$ed)

Srmrnt

u nri6l rLb

elrDq

7
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31. c-odl6in g168 u: Gleuuuu unanatotornu -
eoflein $ uu u 7er.r aSlei; er51 paupnen5t ?

(A) sgurry - 6uL al GlLo rflie n

(B) eorgonrfl - Glp,in quifl&sn

(C) .sGryGlu:ein - aqGyrglu:n

(D) prnt - 6p6rn

32. 4ry u:or oafuruar @oruU..r$ooflein euorss6ir
r9lrfl6oo nLb

(A) 2

(B) 3

(c) 4

(D) s

33. $ei.reuano Gtocrilc6ir snrbu6b 6ep$d,
onanuu@6lpg LopE;rb gnpeb Loanp

€roog1 uafluGlungloeu pgdleingrgr.

(A) $reir GosLb

(B) uoru GosLb

(C) srftuoru Gos6

(D) onripqeh GLoeLb

34. a.rafloeinuo er@B1geofleil er$p oainr-
ar$$larar Gleuu u&s6u6n er@6qg eron

eleopBeuu@6lpg1 ?

(A) 6lo.ruuonpt oainl-artb

(B) Glatuuonpn oemrL-oLb

(C) erurafl oainr-o6

(D) 6leuofl roainuarLb

GAT 2023 / A

B

31. Which one is not correct in Spatial
Distribution of Hot Deserts in the World ?

(A) Sahara - North America

(B) Kalahari - South Africa

(C) Arabian - Arabia

(D) Thar - India

32. Tropical Disturbances are divided into
types

(A) 2

(B) 3

(c) 4

(D) s

33. This clouds are grey cloud layer, fairly
uniform may give drizzle or snow grains :

(A)

(B)

(c)

(D)

Cumulus

Stratus

Nimbo Stratus

Cumulo - Nimbos

Troposphere

Stratosphere

Ionosphere

Exosphere

34. ln the atmospheric layer which region we call
it as "Convective region" ?

(A)

(B)

(c)

(D)

I



35

36. Clun19$gte :

(r) @euj$pnee 6lpn6uq (i)

(b) fiar$Gpn$p epDA (ii)

(c) $u:&e +oeinun@ (iii)

(d) qer9luqp ronuo (i")

Sora:ors Srq, L6ldtrord, qu..rebesir Geup-
u r-L- uainqe oror6 ClsnainL- $lraiir@
euofl u u1g$laeh eeiro,p gring e$$1666
Clunqggr qf u@6leinpeo

(A) $)561r r'rgry6;16[ $rq, L6ldn@reil qu..reiueh

(B) er.roflgos, $rq rlldrorrir qu:areoir

(C) oano$paoL- Sq Ldl6tr6Td qu:oosir

(D) Gleuuu&ea:an $rq L6l6irr6r6b qu-ra:aoh

L.C.6lrir

Cluru&

6DL[tr6)r

tonflsn6un

(A) (a)-(i), (b)-(ii), (c)-(ili), (d)-(iv)

(B) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(c) (a)-(ii) p)-(i) (c)-(iii), (d)-(iv)

(D) (a)-(iii), (b)-(ii), (c)-(i), (a)-(iv)

37. 6lo.ruub onELb oerrr--o$pan sr9pug$-
u5lri: $u:elun6r 6lerruu lgorpeq eSpLb

6.s" C / 61.16 GogLb GLoeb ugdlugld r C/
6l.rf creinuorp Glen@$parf :

(A) Glponria9lL-oiu LoSguLb goiuq<in

(B) arnoir

(C) CIL-nu LopDneb

(D) 19on7+nr6)

GAT 2023 / A P.T.O.

type of thunderstorms form in a
layer of warm air forced to rise over a layer

of cold air :

(A)

(B)

(c)

(D)

Advective thunderstorm

Frontal thunderstorm

Orographic thunderstorm

Local heat thunderstorm

36. Makh the following :

(a) Morphological system (i)

(b) Landscape cycle (ii)

(.) D)'namic Equilibrium (iii)

(d) Geomorphic Model (i")

L.C. King

Penck

Strahler

Morisawa

9

(A) (a)-(i), (t)-(ii), (c)-(iii), (d)-(iv)

(B) (a)-(iv), (b)-(ti), (c)-(ii), (d)-(i)

(c) (a)-(ii), (b)-(i), (c)-(iii), (d)-(lv)

(D) (a)-(lii), (b)-(t), (c)-(i), (a)-(iv)

37, The normal lapse rate in the lower few
kilometers of the troposphere is 6.5'C / Knu

while in the upper part is 7C / Krru is given

by,

(A) Haurwitz and Austin

(B) Lal

(C) Kitab Mahal

(D) Kumarasamy

35.



38. EU6b$i etgcs pnLo6,p +Egu uoiren$-

snri:dleb ureom snerruulAClnrsr.

(A) 1g$gu unorpaeir

(B) 6loru$$u unorgr

(C) GoGena5l$ unorp

(D) Gu$Gpna5l$ unorp

39. euafltoainL-orl Glungr apS6lu9leb pr--&-
en$Eeeir, Goorar6sn$Eseir Lo[gLb

5t196u& GanpBenflgaeh creinugr :

(A) goeingrnLb florar epf8
(B) @rainun6 flolal *p$fl
(c) gpetu Slan *p!61

(D) a196sri' apfdl

40. guu ng$loreu6oru 6r.i60[urguugt

(A) e.* = ffi,.roo

e *= $f;*,*(B)

(c) e.*= ffi,roo
A.H

(D) I [r= pllt l()0

41. 6rpp ed,rg errqurng$ panou9l-@u
ur6Dp 6u6r5 po$GpngpLb ?

(A) e-ur i 6rlflo6Do6 *'6qeeir

(B) pn5p arrfloora:ri GlanuuanTuair

(C) arno.rn +Lo$la;6

(D) 6ld)

GAT 2023 / A 10

3E. Near Jabalpur in Narmada River valley
rocks are seen.

(A)

(B)

(c)

(D)

Dykes

siI

Laccolith

Batholith

Tertiary Circulation

Secondary Circulation

Primary Circulation

Synoptic Scale Circulation

39. In general circulation of Atmosphere Trade

wind, Westerly wind and Polar Easterly wind
are

(A)

(B)

(c)

(D)

40. Relative Humidity is defined as :

(A)

(B)

n.H = jfrxroo

n.n= ffixroo

(c) n.H= ffi,roo

n.H= ffixroo(r))

41. Which one is intrusive volcanic
Topography ?

(A) Volcanic cones

(B) Calderas

(C) Lava plain

(D) six



42. o.rofloainr--o e-u:ry$orp Glung$g er$p
caeinm efluJnar *.rirmr ?

1t1 gg6u u(96 - 3 61.r6-aSlg$gr a 61.r.6

(ID L6lpGlaruu ug$l - s 61.r.6-a5lg$gr

13 6l.r-6 euorr

(lII) .sru:or r-oednr-a;6 - 0 Cl.r5-asl1g$gt

18 cl.d

(A) (l) LoL-@Lb erfl

(B) (II) oL-@tb erfl

(c) (I!, (lII) +rfl

(D) (I), (If, (II) -rb erfl

43. uL-urr.-r, snrt qg erprplg o pnyamb ?

(A) 'V' 6ur+6u uehen$pn66

(B)'I' 6!+6r uehor$prBg

(c) 19L-&19$lseh

(D)'U' 6u+6u uehen$pnB1g

44. 6rpp e,indld, rSlq$ua5luqB66(g el05Lon5
c-oherg ?

(A) uafl

(B) rD6sTa)

(C) qeir

(D) @6ld

45 "6lgnB" snfflein Gleuuuflaocu :

(A) 30" Gl+-erSllg$gr 40'6l+ o.reo7

(B) S" Gl+-el5lg$g,r 25'Gl+ ararry

(C) 28'Gl+-e$l6$gr 32' Gl+ aranq

(D) 32" Gl*-e$i6$gr 35" 6le ororq
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42. Which of the following is correct about

atmospheric height ?

(l) Polar regions - 3 kms to 8 kms.

(II) Temperate regions - upto 5 kms to 13

kms.

(III) Tropical regions - 6 kms to 18 kms.

(A)

(B)

(c)

(D)

(I) only correct

(ll) only correct

(II), ([I) correct

(I), (II), (III) correct

43. Bhadbhada, Gaur river is an example of:

(A) 'V'valley

(B) 'I' valley

(C) Pot holes

(D) 'U' valley

44. Which one has highest Albedo ?

(A)

(B)

(c)

(D)

Snow

Sand

Grass

Cloud

45. Temperature of the Chinook wind :

(A) 30'C to 4ff C

(B) .5" C to 25" C

(C) 28'C to 32" C

(D) 32'C to 35'C



46 Clunrrniisrs

(r) Glpqeuni

Glsrr6iT6Ds

(b) Gc nair

.sraorBClsneirars

(i) GeLbui6$l6in,

Goneb uein

(ii) 6D tIU 6D Tt6D

(.) gpeflore6
Clsnehaos

(iii) Taiuouo

(d) 6rL-o,u
pu*$$lr
Clsnehans

(iu) d,inuio,
Glgurfoiu

(A) (a)-(ii), @)-(r), (c)-(rv), (d)-(rii)

(B) (a)-(i), (u)-(ri), (c)-(iii), (d)-(iv)

(c) (a)-(iv), (b)-(iii), (c)-(ii), (a)-(l)

(D) (a)-(iii). (b)-(i). (c)-(iv), (d)-(ii)

47. r-9leinorgLb &.pdld crgl erflu:narg ?

(D 4q u.roroainr--o gpno.roflsoir 6aluu&
eoor$pneb qS u @dldngror

(ID 4q u:aroainueu gp ner.r ofl u9 ein GausLb

Loemfl6g 120 61.18.

(III) r6lp6leuuu 6pnorofloeh araSlorLo -
u n6rT5l

(A) (I) ou@r-b erfl

(B) (I!, (lll) elfl

(c) (!, (II) efl

(D) (III) ou@Lb erfl
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(D) (lll) only correct

46. Match the following :

(a) Nebular
Hypothesis

(b) Planetesimal

Hypothesis

(c) Tidal Hypothesis

(i) Chamberlin,
Moulton

(i0 Laplace

(iii) Russel

(d) Binary star

Hypothesis

(iv) Jeans and

Jeffreys

(A) (a)-(t), (b)-(i), (c)-(iv). (d)-(iii)

(B) (a)-(i), (b)-(li), (c)-(iii), (d)-(rv)

(c) (a)-(iv). (b)-(iii), (c)-(ii), (a)-(i)

(D) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

47. Which of the following statements are

correct ?

(I) Tropical cyclones form due to
convection.

(ID Speed of Tropical cyclone is 120 kms /
per hour.

(III) Temperate cyclones are strong.

(A) (l) only correct

(B) (ll), fllD are correct

(C) (l), (ll) arc correct



48. rD6Tp Glu nuSl6r9lein er9laoonaun$prn e1$eLb
zahar r.r'ppano r-9lqGpo6 er5t ?

r+[6ldDalu uflrGpeomdr

(A) A dlqGpeLb

(B) C r9l[Gped

(C) D r-9lryGpeLb

(D) E r-9l7C,p+Lb

49. 6rpp edrrg elflunang ?

(I) dlynororr- Lo[gLb un+rei.ru unoopaoir

$u u nenpsannqgLb

(ll) Lomrf unorpqLb $uunorpu:n1qLb

(III) u+6quun6,p eO @fainL-n6 paro
unorpsennqgb

(A) (I) ou@Lb elfl

(B) (l), (II) ror-@Lb erfl

(C) (!, ([I) Lou@Lb *rfl

(D) .aeoon$Ed erff

50. erlp gdtg e-u: ri Gocrfusoir ?

(A) $rrehGoeLb

(B) snriuoru GosLb

(C) @orruur-r- $lfehGoe6
(D) 8pg$$rcir Goe6

51. eLo LoorpuGlun$leq CluE6 $uri.raanor
$oreun6lgLb Gsn@

(A) 6Genu nri

(B) gGenGlpriLb

(C) 6G+neopoL-oiu

(D) Clqu5l<in gon2i
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85097
48. Precipitation effectiveness is highest in which

humid province ?

Humid Provinces

(A) A Province

(B) C Province

(C) D Province

(D) E Province

49. \Arhich one is correct ?

0) Granite and Basalt are Igneous rocks.

(A)

(B)

(c)

(D)

50. Which one is High cloud ?

(A) Cumulus

(B) Nimbo Stratus

(C) Alto Cumulus

(D) Cirro Cumulus

Sand stone are also Igneous rocks.

Sedimentary rocks are secondary rocks

(I) only correct

(l), (II) only correct

(l), (III) only correct

All are correct

(ID

(rrr)

is a line loining the places of
equal precipitation.

(A) Isobar

(B) Isotherm

(C) Isohytes

(D) Rain Gauge

51.



52. r-9leineulger.rara.rforp Glung$ge :

ugd cnfloonrrunicrb

(a) 6lp,itCq (') fa'fl6i0

qulflten oneiuo$u

(b) orr--&19 (ii) Lop$u
qurflBon onoiuo$u

(c) ETneirciu (iii) dloflonqdgeGrln

tD6D6)

(d) Ggnoeofl (i") Ggon&Glert

(A) (a)-(iv), (b)-(ii), (c)-(iii), (a)-(i)

(B) (a)-(fi), (b)-(iv), (c)-(ii), (a)-(i)

(c) (a)-(il), (b)-(iii), (c)-(r), (d)-(iv)

(D) (a)-(l), (b)-(iv), (c)-(iii), (d)-(ii)

s3. 85!eaint- er$p er@rnO E.ait(pbp GlrqGu:n

e{oroor rflans6Du: O y$ ua5ti;6lpg ?

(A) D - er@tiqg

(B) F, - er@&g

(c) E - s@tig

(D) G - er@Bg

54. uafl urqa& Ge nr--un@ eruGun51 gcein

-.6";1gur gt ?

(A) 7e33

(B) 1.e23

(c) 1e13

(D) 1e03

GAT2023/A

52. Match the following

Area

(a) East Africa

Volcanism

(i) Rheinish Massif

(b) Northern Africa (ii) Massif Central

(c) France (iii) Mt. Kilimanjaro

(A)

(B)

(c)

(D)

54. When was the Ice

propounded ?

(A) 7e33

(B) 7e23

(c) 1e13

(D) 1e03

Germany (i") Hogger

(a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

(a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

(a)-(i). (b)-(iv), (c)-(iii), (d)-(ii)

D - layer

F, - layer

E - layer

G - layer

(d)

(A)

(B)

(c)

(D)

53. Which layer reflects low-frequency radio
waves ?

crystal theory

14



55. r9letro.rlgo.roreuf orp Clun19$5ts.

Gsnoirseh Etaoarur&Gcneireeir

orcfnooflrieos

(a) er9lu:npein (i) 22

O) safl (ii) 2

(.) g4GTaroiu (iii) 1.6

(d) Glpurag4dn (i") 15

(A) (a)-(iil), (b)-(i), (c)-(iv), (d)-(ii)

(B) (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)

(c) (a)-(iv), (b)-(lii), (c)-(i), (d)-(ii)

(D) (a)-(i) (b)-(ii) (c)-(iii), (d)-(iv)

55. u:nTneil "eouru erain+eiurqrfu 6luri Gsnein-

rq616'I6inGL- ropErb gGe nein" creinp

qpp56 6r(S)puuL-, gr ?

(A) gebJ.uGlTu Glorearri

(B) F.B. GLurGlart

(C) S.w. eenrn@flu$

(D) R.S.6lontpoein

57. 6-pfloi, 6rO 6lal go@uafl ereinE

etolp66uu@dlpgr ?

(A) 6lanu $u:&s sxrf g:@uafl

(B) $rrnefl eruri 1go@uaft

(C) or.raflga e1r--i go@uafl

(D) e$nef+el erut go@uafl
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55. Match the following :

Planets No. of Satellites

(a)

(b)

(c)

(d)

(A)

(B)

(c)

(D)

Jupiter (i) 22

Saturn (ii) 2

Uranus (iii) 16

Neptune (i") 15

(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(a)-(i), (b)-(iv), (c)-(ii), (d)-(ili)

(a)-(iv), (b)-(il), (c)-(i), (d)-(ii)

(a)-(i), (t)-(ii), (c)-(iii), (d)-(iv)

Alfred 
. 
Wegener

F.B. Taylor's

S.W. Wooldridge

R.S. Morgan

56. By whom the book 'Die Entstehung der
Kontinente and Ozeane' was written :

(A)

(B)

(c)

(D)

57 . Which one of these is called as the ground
fog ?

(A) Advection fog

(B) Steam fog

(C) Frontal fog

(D) Radiation fog



58. &aitrffirn6 Ll un6Dp 6laluuryur9leb porp
Gopuquq +lflorpneil elSu@6 Cl+ru -

Oppr6il u raop oar n Glanainr u airar Lb

6r6!6urg erorp6suu@dlpg ?

(A) e-dl@e granareoir

(B) ou L9eiu

(C) snrtoiur- ueirar$pr61g

(D) sn6 r9lr-oiu

59. Clsfu9lurn66l6b snmruu@6 goreesir o$gb
a0q9ru qglb Stan6n56D6rT $laoaw&19rb
+pron6r Cl*rug$g qgpnu.ldg Gluu-ri
cra;,q ?

(A) 6lunorrfloiu

(B) Gr-nerSleiir

(C) zrflresdl sreoor

(D) s686i,r6iu

60. rfrainr Gmn&Srilrs coGn 6cnsu96b srrhmr

er9aLb sr-oir GLo[ u 7u L9ta $or$$lf1g
creinar Cluuft ?

(A) Glsn$pafluq

(B) .'"Glur-&

(C) sonnr.6l

(D) erygl6gLb elaneu
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(D) Destructivt- wave

5E. Which one is called as Rock-walled steep

depressions due to collapse of ground surface

in Karst Topography ?

(A) Sink Hole

(B) Lapies

(C) Karst valley

(D) Cockpits

59. Name the vertical pipe-like chasms that
connect the caves and swallow holes in
Serbia:

(A) Ponores

(B) Doline

(C) Sink hole

(D) Avens

60. Name the length of sea surface over which

wind blows in one direction for longer
duration ?

(A) Swash

(B) Fetch

(C) Tsunami



61. Glunrruisrs:

S166luu.rnga>

e0otcru+idrin

uebGorpt

6lurunaeil

(u) alLnrir

(b) r6leuun

(.) Egtb

(d) Grr

(A)

(B)

(c)

(D)

argrirauu@rb

DrGlaeir

(i) a9luupntb

(i, orr- 6lpBg
6lri;6lun

(iii) ori6lu-r
gGlorflion

(ir) @$ GpnGer-

"fl.n
(a)-(iv), (b)-(iil), (c)-(ii), (d)-(i)

(a)-(iii), (b)-(iv), (c)-(ii), (a)-(i)

(a)-(ii), (b)-(i), (c)-(iv), (d)-(rii)

(a)-(i), (b)-(il), (c)-(ili), (d)-(iv)

62. 6p51. er naflaro gronp u9iein 6u6D[tu-
alpuuq er:p L-Cl areinugt :

(A) GlpnL-ri&6u:ne.o 30 Loaopu$p pnrseir

(B) Glp nL-riridlu nor 22 oorpufp pnrseir

(C) Glpnrririflunar 15 Loeopu.i$gr pnreeir

(D) GlpnL-ri}flu:nor 7 Loanpufgl pnroeir
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61, Match the following :

Different

names of

Shifting

cultivation

(") Ladang

(b) Milpa

(c) |hum

(d) Ruy

(A)

(B)

(c)

(D)

(iii) Central

America

(0

(ii)

Countries

Vietnam

North East

India

(i") Indonesia

(a)-(iv), @)-(iii), (c)-(ii), (d)-(i)

(a)-(iii), (b)-(rv), (c)-(ii), (d)-(r)

(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

62. Meteorological Department of India defines

drought as a :

(A) Period of at least 30 consecutive days

of none of Rainfall.

(B) Period of at least 22 consecutive days

of none of Rainfall.

(C) Period of at least 15 consecutive days

of none of Rainfall.

(D) Period of at least 7 consecutive days of
none of RainJall.



63. LooiuGsnerrorL- eir gxi;4lu euane .

(A)

(B)

(c)

(D)

66) LD55rT

r5lonnrrqor6

6t<qlbqp pnst

Glodaf6lu6

64. 7947-48 -efu "ro$$lu peoq& suaSlein

e arrfueorT a9lor&oLb" errfloooo Glolr rquq
porL-GluSgr $uLb ergi ?

(A) Glgo&on

(B) GunBGu:n

(c) udlr-916

(D) poo.r nu.r

65. c.-6u6 @Gsn6irr 5l6nb

(A) GlsuL6ui 5

(B) gOeir s

(C) Gleuu6uft 16

(D) g9dr 28

66. @$$u:ra9l<i'r eruulgS qe6l er$ril.+61

etunur u(g$ ?

(A) p&snon L9ugr6l

(B) $uopu u1g$l

(C) @Lonaru.r ulgp

(D) 6lpp<o 
"cq6
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53. Muscorite is the important type
of _.
(A) Mica

(B) Platinum

(C) Iron-ore

(D) Magnesium

64 VIhich place experienced the "lighthouse of
Mediterranean" type of eruption in
7947-48 ?

(A)

(B)

(c)

(D)

Hekla

Tokyo

Pacific

Hawaii

55. World Ozone Day is

(A) September 5

(B) lune 5

(C) September 15

(D) June 28

66. Which part of India is considered as

Earthquake risk zone ?

(A) Deccan plateau

(B) Peninsular Region

(C) Himalayan Region

(D) South Region



67. [n6i+r+IInuJ ufn +Gu.JrB 6r6irpno e;rai'ai' ?

(A) Gpd ur Cloreiren qenarrurLb

(B) ueinornu@@priggorb

(C) Gpdlu: Gler.rehen p@uq qorerru.lrj>

(D) GpClu: euan unglsnuq Geaneu

68. e-odla'l Glpe ornoroe eh oPpLir
un6Do56ir .a$sgreiren pn@ ogr ?

(A) ul.6r6iD.6,

(B) Sorn

(c) 6p6rn
(D) guunein

slTp-

69. S$$lu:rer9Iir 1854 -o grpeil earreil Glpe-

o.rnoo qTLbr-9l&suuuu 6ub 

-.

(A) fl^+rn

(B) "ts "fii
(C) etsiurn
(D) tqure f

70. 6Orbq er"'"g e-Su$$ 6l+u:qLb on$larrtu-

oanen $grrirlg eurflensuglal oroleu u@$$l
mril mrLb SLbsnmrrLb rsr6l uSraor uurein-

u@$$ erflu:nar eSleousru.r Gpft$Cp@d;-

seq Lb :

Odlu9@] '
(1) eurc-ciusrt

(3) aipnre n

(A) (3) (4) (1)

(B) (3) (4) (2)

(c) (4) (1) (3)

(D) (4) (3) (2)

(2)

(4)

(2)

(1)

(2)

(1)

Ggner: n

grflen
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67 . What is Rashtriya Barh Ayog ?

(A) National Flood Commission

(B) International Monetary Fund

(C) National Flood Control Board

(D) National Resource Coruervation Service

58. Which country has the largest Looruge and

Spindles of the world ?

(A) usA

(B) China

(C) India

(D) Japan

69. tn India the fi$t Jute factory was established

in 1854 at

(A) Rishra

(B) Budge Budge

(C) Agarpara

(D) Titagarh

70. Arrange the following States in descending

order of Iron-ore production and select the

correct answer using the code given below :

Code :

(1) Chhattisgarh

(3) Karnataka

(A) (3) (4) (1)

(B) (3) (4) (2)

(c) (4) (1) (3)

(D) (4) (3) (2)

(2)

(4)

(2)

(1)

(2)

(1)

Goa

Odisha



7"1 r-9leineulgoranorSgeir ar$p gg 6lenp6lpnL-ri
gormnargt ?

(1) gGrr-91&cn 6u 6Ds sn r-91 u: n argt
r6loa1 Lb pE roasrgoalr-urgt

(2) 6lquciuun Grofl1g gur-9lifl6s euors-
uJ nffgl

(3) a5luifl&cn 6u6D6urroTgJ .Er+oTron6r

LopE6 Gpmu erSitqanip s-a)r rr Sr
(4) erGfl-9l6sn e-L-6T+ snr-91 pu:nifl&s

6rbp5l
(A) (1)

(B) (2)

(c) (4)

(D) (3)

72. r9lsineugo:.raro.rfpeir Glung$pnp
Glenfl Glpnrri geinflanor eairufls.

s6en craiur6lorrr,n *Sot
(A)

(B)

(c)
(D)

snieinouneir stlpso,y - "1967

slgarn slfsorrS - 1,976

u r-bu nu-r amur GlnGsslb - 1987

ourdlp&g Gi-n&6lGun - 1999

73. Epaeinr-euf guir -gr geing po.rpns
Glunlg$puur-@eirorgl ?

(A) n6ruq6, - gGTru r9lu porr.-
u9lebon a.rarfls &.r-
L6Dt-OU r-..1

(B) g[ls'+r+ - arrfl LoflEb ourtgpeib

$lfsnor Clungr gu
upp6

(C) creirlouqcr- erlp6loia .gGlo rflBo

ouaufls &!r- r-
' orLouq epub

(D) 9r-9lr+61 - GluuGqnerilu6 erf
gto$l Cl+u:qrn pn@

saflein c'ur--aoou q
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(D) OPEC

71. Which one of the following statements is not
correct ?

(1) Arabica is a finest coffee for flavour

(2) Rubusta is a West African variety

(3)

(4)

(A)

(B)

(c)

(D)

Liberica is a hardy and disease resistant

variety

Arabica is suitable for making lnstant
coffee

(1)'
(2\

(4)

(3)

72. Consider the following statement and select

the irrelevant one.

Spilling of Crude Oil
(A) Coast of Comwall - 1,967

(B) Coast of Coruna - 1,976

(C) Bombay High Region - 1,987

(D) North East Tokyo - 1,999

73. Which one of the following is not correctly

matched ?

(A) EFTA - European Free Trade

Association.

(B) GArr General Agreement

on Tariffs and Trade.

(c) LAFTA Latin American

Federation Trade

Association.

Organization of
Petroleum Exporting
Countries.



74. 6lpo enlgurq ufflu Epri;sainu o,Dgl-
safleb eiflur r66loreu ereoorl ?

(D euonlgLb uqger.r$p<ir Gpenaruu@6
+7n+lfl 61aruu$)rrroo 20"C - 27"C

(n)

(rr)

orai,nuar oain enlgura6 g 6rbqg)

cnlgu rg&qg Gporeu u nen eugunp$lr
Loanpu Glu ng5ler.l 50 6le.L6.

euflob Gpeneu

(t) LofgLb flr)

(l) oSgLb (II!

(t), (rl) ro[916 [v)

(!, (II) tof96 (IV)

0v)

(A)

(B)

(c)

(D)

75. e-ardGoGu: un&6Dsr- e-f u$$u9ld>
gopa5lL-rb sudhlugt :

(A) r-9lGrrdar

(B) 6p€rn
(C) goiu$G7a5lu.ln

(D) gaoo&sn

76. '7n6enri e-uainurq6aos' - e-r-6itr 6lpnl-ri-
q6DLuJSl :

(A) en@ orenriu q

(B) uo.renu unanpseh

(C) Loorrg6sn@coir

(D) n'q$louulg$loeh
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74. Which of the following statement (s) is/are

true about Rice cultivation ?

(D The average temperature during the

growing season is between 20'C and

27"C.

Alluvial soil is best suited for cultivation.(II)

(tn)

(IV)

(A)

(B)

(c)

(D)

The cultivation is done where annual

rainfall is 50 cm.

Level surface is nceded.

(I) and (lI)

(I) and (II!

(I), (lII) and [v)

(I), (II) and (w)

75. The largest producer of Bauxite in the World

(A) Brazil

(B) tndia

(C) Australia

(D) f amaica

76. 'Ramsar Convention' is related to:

(A) Afforestation

(B) Coral reefs

(C) Rainforests

(D) Wetlands

ls
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77 ' 7oig u.r n aflein o notr Gle6iu r-ri'
saDp8suu@rb $rLb ergt ?

6T 66T mt

(A) Sr-r-rioiuuriri

(B) se$lerflein

(C) gLbeiu&

(D) garGornarn

78. rq f neineiu - an e r-9 rfl u.l ein @19uqu urranp
gfl$p 8$ri;sainu *'figsafl cb erfl urn-
6I6)6U 6r6)6)J ?

(D $g onoiuGsnono.r alarnrgeunoiu -

L-n{i - e-r-6in $lareuni;61glgt

(III) 6g Ulr6b toora:$Glpnr-or7 suggr
Gluebdlpgr

(fU 691 cnoiu u9luein sLalal onu6snei:
e1fl q r-ein @arerrridlpgr

(A) (I) or-@Lb

(B) (t) opg6 ([)

(c) (I), (II) roEgrb (ID

(D) (I), (ID. (IID ofELb [v)
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(D) (l), (lD, (III) and (IV)

77. Which place is called 'Manchester of
Russia'?

(A) Petersburg

(B) Kalinin

(C) Omsk

(D) Ivanovo

78 lArhich of the following statements are true
about Trans-Siberian railway ?

(I) It connects Moscow with Vladivostok

(D The total distance covered is 9500 km

(lII) It crosses Ural Mountains

(IV) It connects Caspian Sea with Lake
Baikal

(A) (l) only

(B) (I)and (II)

(c) (!, (lI) and (II!

(ID Speir Glonp;p gilfiLb es00 61.16



79, uL-r4ural I -8, ur-l+utal II - e-reir
Glun19$$ sfl urn6r e,9loouenu.l$ Gpi$-
6lp@Baeq6.

ur--r+ruo: I uLrqu.ral Il
(aainr-fiash) (e-eirpnr-@ Sir

su$luuncog)

(u) 6Jr- (i) 6)ttdit

et6lLolfld;sn

(b) gGrJnuun
$rior$uunanp
6lsuq 6irri 6Dn-

Teinaiu $na"r$lu
ur6Dp

(pfGtr
rfr rteu r-61 u u nans

u:mfur--or6l6lumir

(ii)

(.) gdlu:n (iii)

(d) 4aiu$lGqa5lun (iv)

(A)

(B)

(c)

(D)

iBter 16lu u noos.' c>

(a)-(ii), (b)-(i), (c)-(iv), (d)-(iil)

(a)-(il), (b)-(iv), (c)-(i), (d)-(ii)

(a)-(i), (u)-(ii), (c)-(ti), (d)-(iv)

(a)-(iv), (b)-(iii), (c)-(li), (d)-(i)

60. SGpd; Glon@rieuuu@eiren 6r[68fl56rfl4)
cr5t Glorehen$errp e-1garrn61gLb @u:pora
6nf6fifl glalal ?
(A) +pE 6rr6D6ner1

(B) Cleueiron& eLo@oLb

(C) an@soren erdppeio

(D) e$e LoorpuGlunglloq

81. E$arger.ranof geir gu:na$lGurn suo
$G7ruu$grrein Glpnuriqeot_u5t 6191 ?

(A) grger.r Gofe$$lu unfgseir

(B) grgo.r 6lgri;e3bpu..r snfgeah

(C) Jlu.'raroeunr-o Gtofs$$lu..r sn$geoir

(D) ei u:eroaruruo dlpri;qii$lu: en$gaeir
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79. Match List-I with List-II and choose the

correct answer :

List - I
(Continents)

(A)

(B)

(c)

(D)

List - II
(Island waterways)

(a) North America (i) Rhine

Waterway

(b) Europe (ii) St. Lawrence

Waterway

(.) Asia (in) Murray
Waterway

Australia (iv) Yang-tse-kiang

Waterway

(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(a)-(i), (b)-(ii), (c)-(il), (d)-(iv)

(a)-(iv), (b)-(ili), (c)-(ri), (a)-(i)

(.1)

80. Which of the following factors is not a natural

factor causing floods ?

(A)

(B)

(c)

(D)

Meandering of river

Flood Plain

Deforestation

Heary rainfall

81. Which of the following is related to Oyashio

current ?

(A) Polar Westerlies

(B) Polar Easterlies

(C) TropicalWesterlies

(D) Tropical Eastertes



82. seCloiu$pnein eiuGluu r9l qebGlau aflu9leir

e neunu u@Lb qgrqu9llgu q o:ors

+(9rb.

(A) Clpflu g,qu9lguqseir

(B) un$l - 0pflu: qgrqu9lguqseh

(C) utr6rr6un6r lgrqu9lguqaeir

(D) $eireunrig grqu9lguqaeir

83. Gleria.er5lu.l ein $eq
Clrmridlmsr.

(A) ao$$rrn SL-grfl

(B) 6lGls6i6u6iu GlpnL-rilgeingaeir

(C) Lor--snoiusri Glprurilgeingssir

(D) 6le u9lai,nL-u neir 8r-grfl

84. g(g 6[nsfl gprb e-u:rtogr
u8uuri g6rb.

(A) 4

(B) 3

(c) 10

(D) 8

85. 566r Ln66lgt6hen Gpnorn oiuGsnr-qun
pc[pdp(q cr@Sgl&enr-r-n1gLb

flrier.rns psqrj>

son&e n7 pe rJb

ungtsnuq pey6

ar naufls psqLb

6) at6rrDp-

(A)

(B)

(c)

(D)
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82. Th" typ" of settlements found in the Steppe

grasslands of Kazhakistan is

83. The Kerguelen island lies in

Nucleated settlements

Semi - nucleated settlements

Dispersed settlements

Linear Settlements

Sumatra Plateau

Seychelles Ridge

Madagascar Ridge

St. Paul Plateau

Administrative Town

Cultural Town

Defence Town

Commercial Town

(A)

(B)

(c)

(D)

(A)

(B)

(c)

(D)

u4 An average tide rises about _________
metres.

(A) 4

(B) 3

(c) 10

(D) 8

85. Nova Scotia in Canada is an example for
town.

(A)

(B)

(c)

(D)



86. geirGlorng pnqgLb gpLb pnopuu@eugt
p16lr-rfueorng6.

(A) "t3

(B) 52

(c) 26

(D) 1.2

87. 56U..U $Gynur--$ Glpnqgu r9leir arfinpg
6tg ?

(A) Gsanrfl $Gqnuu6

(B) i.r9lGetnlfl--n $G6nur-Lb

(C) arr et t-arneinra& $Gynuurb

(D) eo.'.u $Gynul6

88. 8$eugeuarrorflgoir elflu:ns Glung$pu-
g1_r 5r ergl ?

0-,b 6l-,
6lL-nurter9lEcnan

snreuurileeh

(A) f1g4 unn6 5r6)6U nU

sr--@onorLb

(B) Clpdr 6lpri;g
gdu:n

snrjlg$uein
e1s$lseir

(C) glflciu Gpa9laiu q$lu Gun&19-

or n&sr ar 16l -
senen C)mtusr

(D) erGosn6ir Gu8ein- p$snaSlo psrtaq
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(D) Amazon Basin

P.T.O.

85. Each day tide is delayed by
minutes.

(A) 13

(B) 52

(c) 26

(D) -t2

E7. Which one is not included in the Gulf stream

system of currents ?

(A) Canary current

(B) Florida current

(C) North - Atlantic current

(D) Gulf stream

Which one of the following is matched
correctly ?

Place Reasons for
Migration

(A) New York Constructing

canals

(B) South-East Asia - Kampuchean

Refugees

(C) Irish 'nawies' Opening up of
new lines of
transport

Commutation

88



89. J.u61unqnrflafl.'.uGlun7n g@sofle6lg$gr
p-rr66u 116r Gerx uJ nqt ?

(A) uu..rnuL-6 G*g

(B) GTrqGunGo:rflu:eir G+g

(C) orealdlueiu Gegr

(D) qgGarnr9lGlgflarn GeE

90 qgGqndlGurn $Gqnr'r S GpnCEd

dlCOpgr 6lutflrtu $t,i'e$S euerrry uu:erfl6-
6lpgr.

(A) guuneir

(B) pnu.ro.rnain

(C) Gsniflu.rn

(D) psJSa;n$gr

9L. pm oeir 1gp orrlseir LoE g6
enai.rporr-eeir e-ainupf 15 $euourLb oSgLb
qei-rerSl$15u u$)a:ns sanat onein Lof pLb
r"Safleir a-eurt$p @orgr&Cloru..r 6!E Llgpp-
arns 6e n@66loinpati

(A) Glu Gr-nu9einaiu

(B) u: r6so'roiu

(C) 6truu6Trr

(D) E[n6u r6iD

92. crpp @arp$rn 'r9l' $7$pororc6our 6r9lu

'6r' @tbp o.rors e1$eLone snoruu@-
6tpgr ?

(A) enaenu:@

(B) $ri6nu:@

(C) orirGcnaSlu:rt

(D) qeiuL-6onu-r@
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E9. Which Ooze is formed from the shells of
Foraminifera ?

(A) Diatom Ooze

(B) Radiolarian Ooze

(C) Siliceous Ooze

(D) Globigerina Ooze

90, Kuroshio system of currents runs from
to the Bering Strait

(A)

(B)

(c)

(D)

lapan

Taiwan

Korea

New Zealand

Bedouins

Yakuts

Karapana

farawas

Caucasoid

Negroid

Mongoloid

Australoid

91. have persuaded the horses and
cattle to eat dried meat of reindeer and fish

instead of fodder and grasses

92. Which race is having more 'A' blood group

than 'B' blood group ?

(A)

(B)

(c)

(D)

(A)

(B)

(c)

(D)



93. u^rirgt (l):

@Dbalp ouerrriur-9let o pou Glu$Gpng6g
safls[Dnar uarrLb oPELb Gporar seoor

r-9lqnetneiu pn@ or.rpru66lpg.

onqduu6 1n1 :

o&aairGlpnoosoru qgorgl rl uppcg G,D,t -

r.D6DpuJ n6ru u +{E6D6n er@Bdlpgl

(A) (l) o$Erb (n)efl

(B) (e) ofELb (R) p6ug

(C) (A) parg gornd (R) eifl

(D) (A) eifl qanneb (R) p6ug

94 unor-9lein Gpnt-rtlgeingoeir el ar o$g siren

@u6:

(A) qrirg& 6lugrireL-ei:

(B) @p6u.l" Glulgrirsuo;

(C) udlr-916 GlugrtusL-ei-r

(D) eruornerrrg6 Clulgrfue uet

95. suGa;nq ug$leoflei.l e-auiur-91 u$orp
pnrirgrj: peinooLo Glu$g eunq96 e-u5llfl-

orrile eir er51 ?

(A) 6lsu&61

(B) g4orTgrnerSlein

(C) eiuGl uGorngo naSleir

(D) stsneLb
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(D) Sargassum

P.T.O.

93. Assertion (A) :

France grants substantial payments and

services to parents to help in child rearing.

Reason (R) :

Taking positive steps to decrease their
population.

(A) (A) and (R) is correct

(B) (A) and (R) is wrong

(C) (A) is wrong but (R) is correct

(D) (A) is correct but (R) is wrong

94. Dolphin - Challengers Rise is in :

(A) Arctic Ocean

(B) Indian Ocean

(C) Pacific Ocean

(D) Atlantic Ocean

95. Name the organisms living in the coastal

regions which is capable of withstanding a
wide range of salinity condition ?

(A) Seiche

(B) Eurvhaline

(C) Stc'nohaline



96. Lurri rDEEb p,n$ gprErsoflein uu7ril-
saflein Gaugun@

(A) uuf gpLb

(B) gp SenuGlorafl

(C) 9p eftsartuseir

(D) gp GeuEun@

97. r-9lGrrdla5ld a.rnqgLb @$$ u u prirlgrgu9lorri
aror +1 orp6su u @6leinporn.

(A) pLbOlqeunTn

(B) 6lu Lb u n

(C) GLoitlri.r&

(D) .eailnein+

98. ueue Glulgrfueua5leir gdc 61ug$uunan
rf drrr-91 +$pd, porLb Gl u$Erehen Glulgrir -
e r__eir crgt ?

(e) @$$luu Clulgrirsr--eir

(B) erarrL-niq6 GluqgrireL-ei:

(C) .srL-onainrg& G1u1gilauei,r

(D) uar-916 Clulgrtuereil

99. 6t,o5l ." GluqgrireL-er5lei snamuu@6
qgo&61u: saflo auenrfuseir ur nonot ?

(A) onrfuseofs opELb Ge nunebl-

(B) GluuGryne$luLb o[gr6 crifleunq

(c) 6O,bq Lo$grn $lBeeir

(D) oro.rTLb roSE6 unaiuuTciu

g(9LD
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96. The difference in height between high tide
and low tide is called as

(A)

(B)

(c)

(D)

High tide

Tidal interval

Tidal Bulges

Tidal range

97. An Indian tribe of Brazil are called as :

(A)

(B)

(c)

(D)

Nambicuara

Bemba

Maring

Ashanti

Indian Ocean

Antartic Ocean

Atlantic Ocean

Pacific Ocean

9E. The most rich fishing ground contains in the

world's Ocean is :

(A)

(B)

(c)

(D)

99. What are the important mineral resources in
lndian Ocean ?

(A) Manganese and Cobalt

(B) Petsoleum and Gas

(C) Iron and Nickel

(D) Diamonds and Phosphorus



100. r-Senorrioeir o$gLb e-uq e-$u$$lurnonrt-

s6ir, el6noSg6 Gsnoirgtb gquglgu Lql6in

€l6)LDUq
(A) S6r orgll erorLouq
(B) o,,l r--u toflgLb Jila)[6rrt-t- el6D t-o u r-.1

(C) pL-e$$lr 6)r+6u <et6DLDUq

(D) godGsnarr or +arr €t6olouq

101.

r02. 8Gp Glen@&ouu'' Oehen ur--rauror I Lo$gb

uurau.ro II -g EpsngrLb lgfluSanL-
Glsnain@ Glung$gto.

ur-+u:o - I ur-rqJ.ro - tr
(anal6)

EGp

(r)

(b)

(c)

(d)

(A)

(B)

(c)
(D)

Glen@&su uureLrf orgr 6l u n19$gs

en$peuneiu (i) gifl*n
Gpnrnoiu (ii) uneiu L-ti

B-otrirsneiu (iii) GsruL-n
pn&gf

Gsnatrr-eiu (i") $eudlrfl
(a)-(rii), (b)-(iv), (c)-(i), (d)-(ii)

(a)-(rv), (b)-(ii), (c)-(i), (d)-(iii)

(a)-(ii), (b)-(r), (c)-(u). (d)-(iv)

(a)-(iii), (b)-(i), (c)-(ll), (d)-(iv)

(.) 7962

(.1)

(A)

(B)

(c)
(D)

(i) u@enu:$gr pn$g$uLb

(ii) arDu8 dlg$p u(961-

sglisnar $ruLb
(iii) ugoa Go6unt_@

pL-L-Lb

(u)

(b)

1.952

1959

1.973 (i") uprir6qu5l6nf eunqgLb

u6$ u9ldn orent&8

$lr--urb
(a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(a)-(lii), (b)-(i), (c)-(iv), (d)-(ii)

(a)-(r). (b)-(iil), (c)-(ii), (d)-(iv)

(a)-(iv), (b)-(ii), (c)-(i). (d)-(iii)

GAT 2023 / A 29 P.T.O.

100. The fishermen and salt producers develop

their settlements in the Pattem of :

(A)

(B)

(c)

(D)

Linear pattem

Circular and Semi-circular Pattem
Star - like pattem

Triangular pattem

101. Match the following :

(a) Santhals

(b) Todas

(c) juang's

(.r)

(A)

(B)

(c)

(D)

Orissa

Bastar

Chota Nagpur

(0

(ii)

(iii)

Gonds (iv) Nilglris

(a)-(iii). (u)-(iv), (c)-(i), (d)-(il)

(a)-(iv), (b)-(il), (c)-(i), (d)-(ili)

(a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(a)-(ti), (b)-(l), (c)-(ii), (d)-(iv)

102. Match the List-I and List-II and select the

correct answer by using the code given below.

List - I
(TIME)

(a) '1e52 (i)

(b) lese (ii)

List - II

Panchayat Raj

Drought Prone Areas

Programme

Community
Development

Programme

Tribal Area Development

Programme

(c) -te62 (in)

(d) 1e73 (iv)

(A)

(B)

(c)

(D)

(a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(a)-(ili), (b)-(i), (c)-(iv), (a)-(ii)

(a)-(i), (b)-(rii), (c)-(ii), (d)-(iv)

(a)-(iv). (b)-(ii), (c)-(i), (d)-(u)



103. 8$enainuorsgeir Glung$pnp geinarp
cr@.

(A) GuainGuSlTnu - Gouqsoren 6lfl-
pnBeu uu:eir-
uO6ugj

(B) @rqGu:ndlynu - 6snairenenoreu
eler&:a uu:einu@-

(C) Gorrfl6lqnu

Spgr

erqgggri sgofl

(D) uonnafluSr-L-ri uru6)u J)l6fr56
u ueiru [Adlmsr

104. 8Gg Glen@6suuL-@eiren a.rn6:61u$,$oran

cgpdf ,i, 6lanain@, qgfl uSorr-- uueinu@$$
eifl ur n6ur eElanuoru.t sain@r9lrq6eq6.

a'fg (A) :

GOES, INSAT Gl+urfl ore Ge nehe eh, q er9l

,6f "Depp 
61+u:perrsGoneireeir gqgLb.

enryerur6 1n; :

qofl,61"1!gpp Gleuf orsGencireeir
gl(D6up06irT ergdleb 800 gpe$ 1000 km
e-ur y$$eil €{6)r.-oru Glufigeiroror.

gflu9@aeir:

(A) (l) ofgrb (R) Stryain@Lb oifl GogLb
(R) creinug (A) -619 eiflunor erglar&sLb

(B) (A) &'pg erfl 6) parE GogLb (R)

oeirn-rg (A) -&qg erflu:nar ofler&soein

(C) (A) p6rJpi o[ELb (R) erfl

(D) (A) erfl topg6 (R) erfl GLog1Lb (R)

ereiug (e) -riqg erflunan aflon8soeixu

GAT 2023 / A 30

103. Which one of the following pairs is not
correctly matched ?

(A) Pantograph - Used for reduction of
maPs

(B) Ediograph Used for measuring

volumes

(C) Varigraph Used to mechanized

leftering

Used to measure area(D) Planimeter

104. Consider the following statements and find
the answer with the help of codes.

Aesertion (A) :

GOES, INSAT satellites are Earth
Synchronous Satellites.

Reason (R) :

Geo Synchronous Satellites are located at 800

to 1000 km height near the Polar.

Codes :

(A)

(B)

(c)

(D)

Both (A) and (R) are true and (R) is the

correct explanation of (A).

(A) is true (R) is false, and (R) is not the

correct explanation of (A).

(A) is false and (R) is cue.

(A) is true and (R) is true and (R) is not
the correct explanation of (A).



105. 10" = 2 mile 6r6inp €l6n6o6!,i,<g .91f 6-
r-9leinco6 ereinor ?

(A) 1 :316800

(B) 1 :20000

(C) 't :1.2672

(D) 1 : 100000

106. Gsoil6iu GsnL-@& sLL-Lorolgt 8$BeainL-

crgp GsnL-@& +ur$$crSlg$g GroLb-

u@$puur--upnlgb ?

(A) L(DdD6Tr

(B) &'6q

(C) smflpb enri$p errirarg oyq enri$p

(D) GLoS*.flu: crgoldloano

107. e-ar 6lair grpal e-a:s Gou
s rgotn6suulr gr ?

(A) Ggo&ur6eeiu

(B) Ggp6nuGunL-eiu

(C) et6rn66n5lGro6rrLi

(D) saSlaSlGu:n

ur n 7 nei.l

108. gGrlnurrr, ort- g6lofl&cn rDpEb

4ciuSG7a5l un Gu neingl smr L-rfu s6D6n

enr-u ey$p Gsnr--@& euud ergt ?

(A) flgtenfit-cir

(B) onebarou rn

(C) u neireiu

(D) affprfffit o rJiorenrtGsnu@& eL-utb
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105. What is the R.F of 10" = 2 mile ?

(A)

(B)

(c)

(D)

1 :316800

1 : 20000

7 :72672

1 : 100000

Cylindrical

Conical proiection

Mathematical or Conventional

None of the above

106. Gall's proiection is an improved version of the

following projection :

(A)

(B)

(c)

(D)

107. The first World map was prepared by
whom ?

(A) Hecatacus

(B) Heradotus

(C) Anaximander

(D) Galelio

108. To represent the Continents like Europe,

North America and Australia which
projection is suitable ?

(A) Sinusoidalprojection

(B) Mollweide's projection

(C) Borme's projection

(D) Simple rylindrical projection



ros. $$$lu:n spdr Gpprd Gpflu eruaxiu-g
6rpp +airr@ Gloroflu9uuur-r gr ?

(A) 18s7

(B) 1,e57

(c) 7e70

(D) 18s0

110. e-o6l6b Eprheainr- 6rpp pn@ U6irdl6i)
gO urErg oTrfueoron Loq&*'$ Clpn$lp-
enanatBlg uu.rdnu@$gdlpg ?

(A) Glo&6lGon

(B) urirearnGpeil

(C) olrqsein Clr--rq

(D) 56rLrT

111. 6l u ngt o.r ne

0ru9lebGor

(c)

(D)

GunBlgau f$gl GLou Gleir

u neop seir qgfl&e u ur-@

6(Errgr
-(A) 6laruq $lp6
(B) u&ene Slp6
(c) eguq flpLb
(D) oQgee;ir flp6

112. qei9l uSl eir Orlaln@ qeirofl e1g&g (@ l-rue-
qgd;15) SoL-Guqeiren (ggdlu glrrpaop
eroflpns sain@ r-9lrq6e a'rqu:pne e-oiror
Genr--@& sLL-6 :

(A) g19err e-&8 Gpntonafl& Genr-@&
rLL-rb

(B) ggor e-&61 eiurc.rfl Gu:ndl lnu rglri

GenL-@& er-u6
uneineiu GsnL-@& suL-6

Glo.ruuu u L--r- 6l glenu.r uei.r Genu@&
errrb
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(c)

(D)

109. In which year India published its first
National Atlas ?

(A) 7857

(B) 7e57

(c) 1,e70

(D) 18s0

110. Which is the country using nearly 1/3 of
timber for Wood Pulp Industry in the World ?

(A)

(B)

(c)

(D)

Mexico

Bangladesh

Vatican city

Canada

111, Generally in transportation maps Railway
lines are shown in

(A)

(B)

(c)

(D)

Red colour

Green colour

Black colour

Yellow colour

112. From which projection can be easily found
the shortest distance between any two points

on the earth ?

(A) Polar Zenithal Gnomonic

(B) Polar Zenithal Steriographic

Bonne's

Interrupted Sinusoidal



1 1 3. po r-r--einoiu er.r ane uSrraeinu + €t 6D6D u 6itr6iD

€la)a)gl Gor.rp enar$$[g (y)fuut-
grflu: rie oh srenruut-r gr :

(A) GsTorn ofgb eripnuen

(B) q,p6lf uL9llGpsd LofgLb Glpgrri:snarn

(c) pdl$pnG oS96 GsTenn

(D) gg3[n$ ofELb Gofg or.rrirsnorb

114. 8gp6sairL-o:f poir @$$luna6lcin 16lsu

Clr /flur uLorfurs rau9leo e!ors

+(9rD

(A) pn[6iu

(B) Gsnainl6iu

(C) eeinpno:oiu

(D) pne noiu

115. en6irrs6irl-LqlGernbeiurc-r-- Gern-$&+r' r Edarmr
Ge nr-@6.e1-ub erein E Lb

etanguuri.

(A) Egte nurr-eir

(B) oneirora"rr

(C) arnnLboein

(D) lgGennqenri

115. eiuGuuqein 6luifl u: oafun--orircofl eir GeTnp

oainr-alLb crgt ?

(A) $ou.rLoora;u9ldn eflaflLbq ug$

(B) 6p61. crir6Ds& soGl6!6lfl

(C) o$$lu: e-u.rq flaruug$l
(D) $ue[u6
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113. According to Hutton's classification the

Alpines or Pre Vedic Aryans are found in :

(A)

(B)

(c)

(D)

Kerala and Kamataka

Andhra Pradesh and Telangana

Tamilnadu and Kerala

Gujarat and West Bengal

is the largest tribal group of

The Tharus

The Gonds

The Santhals

The Nagas

Sinusoidal

Mollweide

Hammen

Globular

774.

lndia

(A)

(B)

(c)

(D)

115. Droiection is also known as

Sanson-Flamsteed Projection.

(A)

(B)

(c)

(D)

115. According to Spate which of the following is
not included in the three macro regions ?

(A) Himalayan Mountain rim

(B) lndo-Gangetic plain

(C) Central high land

(D) The Peninsula



l17, @@ $llL- oennL-alLb g:qgerrrou:ne
fi nnsrfl&s Ga.refrnuu--rsr-

(A) pto:ne u19$l

(B) $u:Soreu.rorLouq ug6l

(C) ana.rporo ugp
(D) egra-eon6enq uqg$

118. sr--ei; uuarr$pf1g c,fup Apbp Gsnr--@&

eLuLb =%(91D.

(A) erio.rGpe Gou Genu@& euL-Lb

(B) olnLburirqein o gi6r,6nai qoJ Genu@&
eLLlb

(C) GloriBGcuuri Gsnr-@& er-r-Lb

(D) sneileiu GenL-@& eL-uLb

119. erainerrLb +ni Gouqooren sainL-fl$par t
(A) Ggneu D. Gpnsur--

(B) Gunrdl qgein

(C) A.H. qnr-9leineein

(D) J.B. eprtatl

rzo. $or$GlpnCg6l eO uq$pnorpne $ebarnp
Glunqggr @ar$61pn15$onu.r gouGlou noinE Lb

g(E urq$pnarpns e-6iT6n u6) u@aneoorne
Glrfl&sr& Clsnehalsrhrs- crfis tond)fl *'rnr

@errq G1bpgt')

(A) gD6opurn6r a'Glp@$pri;

(B) u@eos$ *'Glp@$prir

(C) Gpnto$guein *'6lp@$pei.r

(D) ual$lallol& *'6lp@$pdr
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117. A planning region should completely
l8nOre

(A) Administrativeunit

(B) Physiographic unit

(C) Climatic unit

(D) Socio-culturalunit

118, The best projection for navigation purpose

IS

(A)

(B)

International map projection

Lambert's cylindrical projection

Mercator projection

Gall's projection

Systematic

Stratified

Purposive

Multi Stage

(c)

(D)

119. Mind mapping was invented by :

(A) Joseph D. Novert

(B) Tony Buzan

(C) A.H. Robinson

(D) |.B. Harley

120. Which sampling technique is good, when the

population is heterogeneous and can be

divided into homogeneous sub group ?

(A)

(B)

(c)

(D)



121. paruulg$ erefuaug $eqeoflei: aLpa,my
u1g$l aru q Lb + g LDn66r snu.lelseoorq Lb

r9llfluualeu u6r6nu un6Dp56n.

(A) sanq o9leu6lu.r

(B) 5ol[ gLr+ur

(C) 6uLr,- or+6rr

(D) e-6h

tzz. Qppg4ntafeiu $q €{6)roruu Gupgehen

Sr-Lb:

(A) qftrq& Gluqrtusu€i)

(B) .sruarnerrqt Glulgrirsuo

(C) udr-916 Glugrirsueir

(o) @$$lu:u 6luqgrtusL-ei-r

123. e-u: ri pnSilol& Genurqeir u u.Leinu nL-rqanan6

sefrnrrflrisarri :

(A) ciuo:frqqu

(B) Ggon6arn

(C) r5lTnu

(D) Gloguurt@

124. e-odl ein rilsu 6l u rfl u: Gu 7n g! u9l aSl qg$gr

e-uq $riqg6 +6Dal etaloruu GlufEoiror

SuLb:

(A) et1gun $qsoir

(B) eiuGluu9lein

(C) 6le6n$ sGy6lurn

(D) eleb$rflu:n
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121. A reef separated from the main land or island

shore by a deep lagoon is called as

reef.

(A) Barrier

(B) Fringing

(C) Atoll

(D) Inner

122. South Orkneys Island is found in :

(A)

(B)

(c)

(D)

Arctic Ocean

Atlantic Ocean

Pacific Ocean

Indian Ocean

123. The usage of Hypsometric cuwe is identified
by'

(A) Sverdrup

(B) Hossinna

(C) Birot

(D) Shephard

124. The world biggest ocean water desalination

plant is located in :

(A)

(B)

(c)

(D)

Aruba Islands

Spain

Saudi Arabia

Algeria



125. z&* oneuflorra:, oeoeu$ Glpnuriooh, e1t-ri$p
sn@aeir, qcirGleuofl $lorsrseh o[96
@erlrpb1 er9lau enur fl arrir eek GlcnainL-

uqqBaafld unmruu@rb 1grp91guq or.rens :

(A) dlrJnouqgr 4gqmguq
(B) dlpgreir 6rqrgl19uq

(C) pery lgrqu5lguq
(D) pafl$p lgqu9lguq

126. 2000 -6b 6rpp pn@ dgleainu rori;offipnors
Ge nL-unu4anar Gls nain@ eirorg ?

(1) 2045 -6b Lo&e oirGlpnans 6u6ni&61

o9l6lpLb ggdl.p6tp 44orr peir

(2) @puq 6'5l6lpb +u9lr6 e-u5lgehen

19 g$eopsqgd;15 30 qg g$orpserns

Omppp6i)

(3) sriu r-9larfl Gluaine aflein 6p"q
eCIdlpLb Su9rb e-u9lgehen pugB(g

e6indld, EO q96,pgpd)

(A)

(B)

(c)

(D)

127. e-euf u rilu Geugunr-qein anq6efla(S&-
snor eflurn6n *'[aop Gpn$6]p@6ser1Lb :

(1) ggeoflorneir 6lenain@ er.rquu@rb

painafri ar--aSleb e aru upornal

O\ er9srir snrirrnr

(A) (1) ror--@Lb eltl

(B) (2) ror-@Lb crfl

(c) (r) oflgLb (z) eifl

(D) (r) Loflgb (2) rrflu:ebar

6f)A6UI IT

g&6lu: pn@eeh

gGTnuun

6.o$l.n
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125. The type of settlements found in the extreme

climates, hilly hacts, thick forests, grasslands,

poor agdcultural lands is called as :

(A)

(B)

(c)

(D)

Rural settlement

Dispersed settlement

Urban settlement

Nucleated settlement

China

United Nations

Europe

India

Prevailing winds.

(1) only correct

(2) only correct

Both (1) and (2) correct

Neither (1) nor (2) correct

126. ln 2000, which country had the following
population policies ?

(1) To achieve zero growth rate in
population in 2045.

(2) To reduce infant mortality rate to below

30 per thousand live birth.

(3) To reduce maternal mortality rate to

below one per 1000 live birth.

(A)

(B)

(c)

(D)

127. Choose the correct statement of factors

causing variations in salinity :

(1) Supply of fresh water by River.

(2)

(A)

(B)

(c)

(D)



128. g66l urna9l6D peu6srfl, aai'nonn6q,

6<grbqpp"gr, aroen LofgLb un6aDer
a7rils psrJLb eranoSgeiror Slub :

(A) eteopnunSi Lo$grb Clurfuaqgg

(B) urr-6dTrr o$gLb eainqaft

(C) eurTarnSl LolgLb rflaflGso$

(D) Tnaufls@& opgLb gnrflu:n

129. sr66leu g19 alLogl&g 6toIDIT6uT errq $6n6

(A) s080 et+

(B) 6000 €lq

(C) 6080 aqq

(D) 7000 e1q

130. eifl u naoanp Gprt$6lp@ri;eq tb

(u) eunu 7 unf Glsnuuang 6lfdT-
GomrL-819 a: u&61 gt 6 fl g4ueqainu

Garainu6g GlppdlglLb sonri 4000

r-8t_un gp$$letu ereoLo$geirengl

(b) r-llGrldleir Glsnuueoq qurfl&e nar9lein

G opdl ei.r er or Lo$5t eirorgr

(A) (a) erfl

(B) (b) alFl

(C) (a) LofgLb (b) e/Fl

(D) (a) Lo$gtb (b) p6ug
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(D) (a) and (b) not correct

P.T.O.

128. In India Coal, Limestone, Iron ore, Mica,

Bauxite mining towns are located in :

(A) Ahmedabad antl Bangalore

(B) Patna and Chandigarh

(C) Varanasi ancl Rishikesh

(D) Ranigani and Jharia

129. ln Ocean one mile is equal to :

(A) 5080 Feet

(B) 6000 Feet

(C) 6080 Feet

(D) 7000 Fec't

130. Choose the correct :

(a) The Labrador Basin is situated between

Greenland in the North and Newfound

land in the South and approximately
4000 m deep.

(b) Brazil Basin is situated to the west of
Africa.

(A) (a) is correct

(B) (b) is correct

(C) (a) and (b) is correct



131. u u- rj u.ral I -8, ur-r+ruor II - p-r--ein

Clung$$l elfl urn6r er9larueou$ Gpri$-
Glp@6eeqLb.

ur--rau.rol - I

(er9lroncul

fkoourd,rash)

(") GLor-lflr

ur--r+u.ral - ll

(e{6r,ooglL6)

(i) [agu:n

(b) CleuafldndlGrlu (ii) 566TLIT

(c) oneinurflu:el (iii) u-l.6r6iD.q-.

(d) flsnGsn (i") oiuGlu uSlein

(A) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(B) (a)-(iv), (u)-(i), (c)-(il), (d)-(ri)

(c) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

(D) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

132. EGpB 6len@ieuuu@ehen pn@aofleil

$ a9l I p ein afl arpa.1 Gsu en nain 6D Lo 6) ru

r-9leinurir mrLb rnnfAseir :

(1) 6p6.n

(3) Sarn

(A) (1) (2) (4)

(B) (2) (3) (4)

(c) (1) (3) (4)

(D) (1) (2) (3)

(2) guunein

(4) ereb$itlu:n
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(D) (1) (2) (3)

131. Match Liat-I with List-II and choose the

correct answer :

List - I List - II

(Air terminals) (Location)

(a) Madrid (i) Russia

(b) Leningrad (ii) Canada

(c) Monheal (in) usA

(d) Chicago (i") Spain

(A) (a)-(iv), (b)-(i), (c)-(r), (d)-(iii)

(B) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(c) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

(D) (a)-(ii), (t)-(iii), (c)-(i), (d)-(iv)

132. Which of the following countries practice

intensive Subsistence agriculture ?

(1) India (2) Japan

(3) China (4) Algeria

(A) (1) (2) (4)

(B) (2) (3) (4)

(c) (1) (3) (4)



133. 'Glpguq euenenurLb' 1g$l$p E$BeafurL-

*'f gsanon urflfa!$gr eflurn6r o9lanr--

oru:$ Gprt$6p@&saqLb.

(1) $g gnfgu&oarr6enar Gl+u:ebu@Lb

erfl nora.rsooeni Glsnain@eirengt

(2) 651 6lpp(q LoSg6 arr- .eGlorfl6c
dlpBlg6 eL-Saorqarru gr-q Gleeb-
gpgr

(A) (1) eifl; (2)peug

(B) (1) per.rg; (2) aiil

(c) 6tnain@6 efl

(o) $t7ein@6 pargu

134. r9lein or g a.r aT or ! g eh 6rgt p6u p rg
Glunlg$puuu@efueng ?

(A) lgGynr6lu,.rb - 6lp,io erGlrlrfl&cn

(B) urireiuuein - Eann

(C) pris<il - foigu:n

(D) r--rir eiu rein - [6]+urn

135. r-9lein or 6 o: eur or f p eir

Clunrrb6ou u r-Geirorcl ?

gneurdtaeit

(c)

6ra 56)1 mlr{5

o@$grdanL-@
6!6D566n

$tara'lu.t6ln

r8ri anundlri&

(A) $riGeur--ane u6lg - onrillgGrJnerr

(B)

pn6uIrE]56fT

Jpl ur or oenn reu
pnarTrirseir

er po'orr--

pnar 7rfuaeir

Sorr-uur-r
pnou Tri:eoh

[Dlru 56fr

(D)
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(D) Mesophytes Shrubs

P.T.O.

133. Consider the following statements regarding

'Ring of Fire' and choose the correct answer :

(1) It contains hundreds of active
volcanoes.

(2) It runs along the east coast of South and

N. America.

(A)

(B)

(c)

(D)

(1) is correct ; (2) is wrong '

(1) is wrong ; (2) is correct

Both (1) and (2) are correct

Neither (1) nor (2) is correct

134. Which of the
matched ?

(A) Chromium

(B) Tungsten

(C) Nickel

(D) Tungsten

135. Which of the

matched ?

Plants

follow ing ls wrongly

South Aftrica

China

Russia

Russia

following IS w rongly

Example types

(A) Hydrophytes Mangrove

(B) Tropophytes Decir.luous

(C) Xerophytes Water Hyacinth



135. r-9leineulgaroreufl orgr Glunqg$grs :

OrGFe6 uu9li

(u) rDp$ur (i) gaSleirseir

peoT&e uei;

O) eirrar (ii) zlganor8
oainr--arLb dlprirgs#

(c) r6lpGloruu (iii) Ein.it
oainuarLb uprfuooir

(d) e-u-etu6T (iv) eteinarndlu
oainr--arLb uprfueeir

(A) (a)-(iv), (b)-(iii). (c)-(ii), (d)-(i)

(B) (a)-(iv), (b)-(i), (c)-(iii), (d)-(il)

(c) (a)-(i), (b)-(ii), (c)-(ti), (d)-(rv)

(D) (a)-(iv), (b)-(iil), (c)-(i), (d)-(ii)

I37. EeinorlgoraneufEeir er5t gu r-91rfl&s naflein

udgru9t 6lpnq6lu9l<in g:rii6lu: $L-.rongrb ?

(A) 6lp6g GloeuGa,Eu:ein $qseir

(B) ceinr-nGaleinr-_

(C) q$lu.r ana5lGunaflun

(D) SpBqg gJ.uGTnonai.nGL-ein

138. 8D6n@lrb pneinflei: 6rgt s,rf Loainaran

Snuu@$grLb gDmp salal ?

(A) Glarei.reuuunlg G+n$p<i;

(B) g[lu+6 e-uGu:ndl$pdr

(C) anpr-rfl6 etr6lar6 e-uGu:nfl$prir

(D) u*6 Glunqgeoor uueinu@$grpeir
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136. Match the following :

Regione

(a) Mediterranean

Crops

(i) Olives

(b) Tropical (ii) Potatoes

(c) Temperate (iii) Citric fruits

(d) Sub-hopical (iv) Pineapples

(A)

(B)

(c)

(D)

(a)-(iv), (b)-(iii). (c)-(ii). (a)-(i)

(a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(a)-(r), (b)-(t), (c)-(rii), (d)-(iv)

(a)-(iv), (b)-(iil). (c)-(i), (a)-(ii)

137. Which of the following is a bio-diversity
hotspot of Aftica ?

(A) East Melanesian Islands

(B) Sundaland

(C) New Caledonia

(D) EasternAfromontane

138. Which one of the below four is not a

reclamation method of Alkali soil ?

(A) Addition of Molasses

(B) Application of Gypsum

(C) Application of Nitric acid

(D) Usage of Organic matter



139. r-9leinorrgLb *.fgeoflei: erg GonGan uu9llfl-

aooru uSflu elflur n6r peeueb Sebeoo ?
(A) etgl etGlorfl6a eluroru ulgpe onor

Gsf rissr

(B) s5t eO u&6)r.olorpn pnarq$$lein
u gp$dlOpgt Glugruu@6lpgr

(C) eO ,6ai,TL argrainL- sno6 @uuu9l

19&19 Gpeooruu@dlpgl

(D) Gprrq 6rflu* s$rieaflaSlg$g @u
uu9lri ungte n6e uuu- Geuann@ Lb

140. 8D6ngtLb GanL-@6eL-L-riraaf o argt

ueinannL-@ Ge nL-@& *r--r--Lb areinglorp&-

euu@6lpg ?

(A) uneinoiu Gsnu@&eLL-6
(B) o roarend Ge nr--@6e uu6
(C) Gpnonaiflts Gsnr-@&eur--6

(D) ueb*LLbq Gonu@6ar-L-Lb

142. @pd Appnain@p $lL-L-$$ktu 6raln@
orquq Gpn6eLb :

(i) @araru:fgr peinenLoonur +ifl 6leu-rpei>

tDp0,6

(ii)

(A)

(B)

(c)

(D)

sr rfl s Glsnr6leir eueni&8

6ugonr.o eSluq
.9tol6r$gi ganglaofl gtLb pora;unar
glcinGarf glLb

au nBeu np nT$$l oran e-u: ri$gpei;
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(D) Raise the standard of living

P.T.O.

139. Which of the following statement about
Cocoa is not correct ?

(A) It is a native of American tropics.

(B) It is obtained from the beans of an

evergreen plant.

(C) A long dry spell is needed to the crop.

(D) It must be protected from the direct Sun

rays.

140, l rhich of the following projections is termed

as lntemational Projection ?

(A)

(B)

(c)
(D)

Bonne's projection

Cylindrical proiection

Gnomonic projection

Polyconic projection

Rapid lndustrialization

Reduction of poverty

All-round balanced development

141. Trans Siberian Railwav will be better
represented on :

(A) Conical projections with two standard

Latitudes

(B) Sinusoidal projection

(C) Mollweidprojection

(D) Cylindrical Equidistant projection

142. The First Five Year Plan had two fold
objectives :

(i) Correcting the disequilibrium and

(ii)

(A)

(B)

(c)

141. rqf n6in6iD orel9ltlur6in 6f u9tO Lrn6)ga>ur

Bor;Dno, o@$g&snr@eu5l :

(A) 6C16.. €tLac[ol56 u^6qB
Gsnr--@& eul-6

(B) flgtenu.lL-eb Gonu@& euu-6
(C) o nei.reu nur rqein GenL-@!, euL-6
(D) erogLJT[ L(E6D6rB Gsnl@* err-Lb



1a3. q o6l psoueu eraoouOcfu, 6oainGunqgoir

eteulgseh r-9leinor 196 *'Eegoir
sefln orbmo.rrirenm Gl u rhrnehensr.

(A) qeirafl er9lauqrirsomr reirof@ Gl+upeir

(B) qeirafl er9lo.rynueanen Geerfl $peit

(C) pseuar Glpnlguq Goonamrano

(D) poaueb o9lifleundsd)

144. GlLoiGoun Gsnu@&eL-r--$$ldr, g19 Gprt

Gsnrrqarar @ananti66 s"Gp91b
6 ral.tGt qeiroflaeir *to Gsnanrfu seoen&

rsrflu u aos 6rar J}l6)puun

(A) eLo e-u:pGen@

(B) pLbu Gan@

(C) rfl6u Gen@

(D) Gprt Gen@

145. r9lqGp+rfu eoir Clungro.ins grdrrg et@l(g-
g:anp u9leoar Gle nain u5l el6,or, ep,p
u amrqor uu..rgt, aoou..rrb enn1bpg oflgtb :

(A) Glsneirors ennppgl

(B) a.rorrb enftrissr

(C) gpr,it enf$pgr

(D) or.rnarflud enrippg1
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143. In Geographical Information System, the

software modules are having the following
comDonents, exceDt

(A) Data Input

(B) Data Collection

(C) Data Base Management

(D) Data Magnification

144. In Mercator's proiection, a straight line
joining any two points giving a constant

bearing is called as

145. Regions are generally based on three
approaches such as homogeneous, nodal

and

(A) Policy oriented

(B) Resource oriented

(C) Capital oriented

(D) Trade oriented

146. The European culture world has bt'en divided

into five culture realms and

culture regions.

(A)

(B)

(c)

(D)

(A)

(B)

(c)

(D)

Isoline

Rhumb line

Rimb line

Straight line

Thirteen

Fourteen

Filteen

Sixteen

145. gGTnur-9lur 6alr6.en[ e-a;e$$eil 6$9r
ga)n+srtr [Dai,tr[-6Dlb topgLb 

-

oa;n*sn[ zrr-9lGgpegoone dlrfldsuu@ -
Clmsr.

(A) udeLoeinmr

(B) uSarneing

(C) u$lomrpgr

(D) u$a,nE



147. 6rW ts,r6r 6*pporri uui$p Gpnopr.b,

Glorainoro ppLb, $eirr oroecir, u7$p
Gpneiroeir Lofg Lb ulgoarnor zla.rarrrou -

onurh 6lsnarrrar riseir ?

(A) $[n66lr-ie6iT
(B) LorilGcnar5lu riceir

(C) 6,oGpn qifluein

(D) qrflGu.ln $lfno9lr-nseir

148. 6r$p A$pnain@$ $uL-$$d, $$$u $L-L-
gqga.rneb u$orar$gr o9leuenur

5na;6l6Dar Locrruor rirseir Glflri'suur-uar ?

(A) 6rLLn6ugJ 6..15(9
(B) +pnerrgt 6l.t(gg
(c) opn6 $luL-19119

(D) E,Dpnb S.t191g

149. etorLoa9l Lp616in u[6116D6u COd]BCgb
qemno .9tp 6in equri$$l u9 eo eur6

rs1616snsr

(A) crmreofl&orc st+u u6)l- q66lu-
u urir seir

p[ €t+uu6Dl qer9luur-r e eir

Clflu: elenanar.r qeflu uurissir

6lulFlu stonoror qefluuurfu eeh

1 50. 6le nef e$pn6r9l p 15 et eiuaru nLb arainGl errLu,

Gpu9leno ofg6 Lo76 ar--g$eu1grb pp
ergtGlauon eainr-fle ?

(A) uJ0o6rn

(B) EyLboqgprn

(C) Genpnarlil

(D) oenpS

(B)

(c)

(D)
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147. Which Indian race has tall structure, fair
complexion, long arms, broad shoulders and

heavy bodies ?

148. In which Five Year Plan the Planning
Commission of India divided the fifteen
Agro-climatic zones ?

(A) Eighth plan

(B) Sixth plan

(C) Seventh plan

(D) Fifth plan

149. The areal distribution of given phenomenon

without showing its density is _.

(A) Quantitative maps

(A)

(B)

(c)

(D)

(B)

(c)

(D)

Dravidians

Mongoloids

Indo-Aryans

Aryo-Dravidian

Qualitative maps

Small scale maps

Large scale maps

150. Identify the river which carries Assam oil, tea

and timber to Kolkata ?

(A)

(B)

(c)

(D)

Yamuna

Brahmaputra

Godavari

Mahanadi

P.T.O.



151. r-9laiireugLb uL-queb (gt) -<il Glon@tsou

- uL-@oiror 61pny!f enoro r-91 7Gperfu sanan

ur-rqueil (gg) -a; Clen@6auuL-@ahen

Spng!penoroeqguin 6l u ng$ge.

ur--u.lqN (€{) ur-4ual (qg)

(u) sneingri- (i) Gpu9lono

eurianoiL upuu@$peir

(b) L-nrig$a5lru- (ii) S1gLbq er.'.19

Egr1gfl Clpnglf+nalreu

(c) $letnGunrt- (iii) EgL
rglagein Clpngl$enora.r

(d) Genpnarlfl- 1iv; r-oeinorgr

dlgo$arrn Dpgrb
Gl r-eu rn Gl u nfl u9l u.r eb

(A) (a)-(iil), (b)-(iv), (c)-(ii), (d)-(r)

(B) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(c) (a)-(iii), (b)-(i), (c)-(iv). (d)-(ii)

(D) (a)-(iv). (b)-(i), (c)-(ii), (d)-(iii)

152. r9leinor gLb @qgLb q png urqeurfu eofl eir

e ftpnre no9leir snemu u unpgt crgt ?

(A) ununqpnein

(B) 6Dpgjrn

(C) Gunanarsrt

(D) 6ainGuftgoB

153. $larterooal +n1gu19&19 r6leqd ue$p
Loain cr51Glor aru Gluufl@o ?

(A) Gls6oain

(B) eqorsn oain

(C) crfle6b Loain

(D) 6lefG6srnGleb
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151. Match the following industrial regions given

in List (A) with their main industries given

in List (B).

List - A

(a) Kanpur-Lucknow (i)

List - B

Tea

processing

Iron and steel

industry

Jute textile

O) Darleeling-Siliguri (ii)

(c) Indore-Uljain (iir)

(.r) Godavari-Krishna (iv) Electronic

delta and

Engheering

(a)-(lli), (b)-(rv), (c)-(ii), (a)-(i)

(a)-(il), (b)-(iii), (c)-(iv). (d)-(i)

(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(a)-(iv), (b)-(i), (c)-(ii), (d)-(u)

(A)

(B)

(c)

(D)

152. Which one of the following iron ore deposit

is not found in Kamataka state ?

(A) Bababudan

(B) Sandur

(C) Bonaigarh

(D) Kundermukh

153. Name of the soil which is most suitable for
the cultivation of groundnut :

(A) Red soil

(B) Laterite soi-l

(C) Black soil

(D) Chernozom



1 54. u r--r.qu.ral (ef ) - e'fleil Gle n@&su u u@oiron

p$leoror ur--rauor (gS) -"n,i, 6an@6eu
u r--@eiror erorE dlrin r-91 gru r-91 r--$5 uein

slflurns Glunqg$gs :

ur--rau.ral (gX) ur-raual 1qg)

(a) grrooflunE (i) p$$lgrnsn

(b) un6ungl (ii) oeurJnuein

(") Gluarreomru nE(iii) Epgnn

(d) Glouehenng (iv) Sl1bpnoaufl

(A) (a)-(iv), (b)-(l). (c)-(t), (d)-(it)

(B) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(c) (a)-(il), (b)-(iii), (c)-(iv), (d)-(i)

(D) (a)-(iv), O)-(iii), (c)-(i), (d)-(ii)

155. Gsnu uaflein snoSleoo o.rors u nurqrinu rg

'BS' 6!6Ds 5na;6l6Da; $$$u:nefkin o'$p
u1qBu9lefu $tateqdtegr craim-.rpanar safun-fls.

(A) q,[6'r6b6$l oeoeu$Glpnuri

(B) dlp6qg Glpnurtridl Loenar

(C) alodlrfl oora;

(D) Gio!19 @ou.rLooro

1 56. EL66i,Ip'nn po gij;pore goa.lp S$61 uJ 11661 6i)

gopeingoorpl u: ne crrfuqg gta.r&eug1-r 5l ?

(A) uqlenu

(B) pdlD,rnG

(C) stoiuor.rntb

(D) Go[19 o.rriro6
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154. Match the following rivers given in List (A)

with the place of origin given in List (B) :

(")

(b)

(c)

(d)

(A)

(B)

(c)

(D)

List - A Liat - B

Aaraniyar (i) Nandhidurga

Paalar (ii) Kalrayan

Pennaiyar (iii) Chittoor

Vellar (i") Chinthamani

(a)-(iv). (b)-(i), (c)-(ii), (d)-(iii)

(a)-(lii), (b)-(iv), (c)-(i), (d)-(il)

(a)-(il), (b)-(iii), (c)-(iv), (d)-(i)

(a)-(iv), (b)-(ili), (c)-(i), (d)-(ii)

Aravalli range

Eastem Ghats

Cardamom hills

Westem Himalavas

155. According to Koppen's climatic classification

find out where 'BS' type of climate prevails

in India.

(A)

(B)

(c)

(D)

155. Where do the Zamindari system of land
tenure is firstly introduced in India ?

(A) Punlab

(B) Tamil Nadu

(C) Assam

(D) West Bengal



157. r5l oinor grb p$safl <fu sn6fl i[l u9l 6in gt6o6sr-

u.rng eteirarnp5l u:ng ?

(A) Gleriru:ng

(B) uornafl

(C) Clpnu:u9leir

(D) eroqnor$1

rSa. prfl pc$$ eil qgGrlnrfl u: Lb pngr snerru u @ 6
tona.r uuLb crgl ?

(A) Geo6

(B) prtLoqlf)

(C) $qg&8rnuu6iT6rfl

(D) seinaflu:ngLolil

159. currr EsTLb S$$l u:ner5ltirr

onflo$$lcir .torra$gohang ?

(A) oarflugrt

(B) Gosnoru.rn

(c) 6rli61tb

(D) 6rfiqrn

6T165

r0O. @$$lu:nor9le;b rc-+eb er@8eir e-$1rfl une rfuseh

crrfu 19 pu.rnflteuu@dlprg ?

(A) 6luq6gri

(B) egi$pon

(C) urL+uror

(D) Gu:ogorire n
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157. Which one of t}re following river is not a

tributary of Cauvery river ?

(A) Cheyyar

(B) Bhavani

(C) Noyyil

(D) Amaravathi

158. ln which dishict Chromium oxide is found
in Tamilnadu ?

(A)

(B)

(c)

(D)

Salem

Dharmapuri

Thiruchirappalli

Kanniyakumari

159. ln which of the Indian States, Kayang Peak

is locatetl ?

(A)

(B)

(c)

(D)

Manipur

Meghalaya

Sikkim

Tripura

150. Where do diesel engine components are

produced in tndia ?

(A) Perambur

(B) Kapurthala

(C) Patiala

(D) Yelahanka



161. Qpengt6 gearircefi eil ero.rferrgr 6fuqa-
Goruileir glcaluunalp ereindGgl nLb ?

(A) 1.676 r-Bur--rt

(B) 1.250 r-61-uri

(C) 1.357 r-6uurt

(D) 1.268 r-6uL-ri

162. Loddru un@ galglgosrb €l 6D rDp gJ6iT6n

LD Tt6U L I-LD

(A)

(B)

(c)

(D)

Cls6irr6D6r

gflPgl'i(9+

$lgercirqgf

e uglri

153. +pdlciT gp6Gs Gu&6lu
urorp <glalarT e uuu uL-@ehengl

(A) uor: nafl

(B) a1gaflu:ngr

(C) uqaflurng

(D) 6)oruurrgt

ren. @$p u.rne6leb ou grainr-- 1gafl ri ulgo.renatd
GlpnL-rtu1geug :

(e) pO onri& gopcir p@ Go ororq

(B) pO etdGrnu,i grpon p@ gara.rrfl

6)J6)[

(C) ,rG E-ein (ppd pO qeeiu@ ouorl

(o) pO 6lslu6ui glpon pG qetbui
6lJ6Dtr
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(c)

(D)

P.T.O.

151. Which of the following width is considered

as Broadguage ?

(A) 1.676 metre

(B) 1.250 mere

(C) 1.367 metre

(D) 1.268 metre

162. Manapadu Port is located in
district.

(A) Chennai

(B) Tuticorin

(C) Thiruvallore

(D) Cuddalore

163. Pachiparai dam was constructed in
river.

(A)

(B)

(c)

(D)

Bhavani

Suruliyaru

Paraliyaru

Vaipparu

Mid March to Mid May

Mid October to Mid January

Mid June to Mid August

Mid September to Mid December

164. In India cold dry season starts from:

(A)

(B)



15s. eqgrir-9lein q$u: rye$pdr aupL-61 o;bgrb

966l pn6qgporeu pnrilsri *'rjul rysrirasir
ggrb.

(A) Co 99004

(B) ADT - 37

(c) GA 10s

(D) rNS - 27

155. r9leiirau qgeu emeu Sorp Glun6$gte.

S6lLoaiwr-- €[GrrLoa9lL6
6lpn0p
encoa:gsh

(r) ynbGsn dlGloainr- (i) pn6r,pUJpg
erSl1616lrr

(b) $ erGorunan9Gur-(r) 6lrL+-
dlGlroainu unalonu:Lb

cLbGluafl o5h6lGI--L-

(iii) toglrisor[

(d) $ etdugnGL6 (i") Gener9l$p-

6l6lLoainr-- Lllrb
oSl16lClrr

(A) (a)-(iii), (b)-(l), (c)-(iv), (d)-(ii)

(B) (a)-(il), (b)-(rv), (c)-(i), (d)-(ii)

(c) (a)-(rv), (b)-(ti), (c)-(i), (a)-(ii)

(D) (a)-(iv), (b)-(il), (c)-(iii), (d)-(i)
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(D) (a)-(iv), (u)-(ii), (c)-(iii), (d)-(i)

155. The hybrid variety of sugarcane which is

resistant to pest and safe for dry climate

is

(A) Co 99004

(B) ADr - 37

(c) GA 105

(D) rNS - 27

166. Match the following :

Cement Industries Location

(u) Ramco Cements

Ltd
(i) Thalaiyuthu

(b) The Associate

Cement Company

Ltd

(ii) Reddy -

palayam

(") The India Cements (iii) Madukkarai
Ltd

(d) The Ultratech
Cement Ltd

(i") Govinda

Puram

(A) (a)-(iii), (u)-(i), (c)-(iv), (d)-(ii)

(B) (a)-(iii), (b)-(iv). (c)-(i), (a)-(ri)

(c) (a)-(iv), (u)-(u), (c)-(l), (d)-(ii)

(.) 6 6,o$lurn
6lClLoainuaiu

aSl1616lL-r-

48



157. 6tou..rrD6Dal LDainLa;6Slo: er$p u6$l
er$ls roorpuGlunglo9loren 61ug6lpgt ?

(A) LopOu

(B) 6p,nCg

(C) Gtopg

(D) ouL- Go1b19

168. Gen6in p$1 zfu$$lunargr :

(A) 4qoioainrnri L9r-grfl

(B) Genrr-n-pnrigft 6r-grfl

(C) gamGunGaun ooreu

(D) sebdlqn

169. Gpunor$$l$gb gongrilgLb ercuoreuri

Gsnuns ggu eteoo$geiror5l

(A)

(B)

(c)

(D)

InLDStElStr

aundr Gu n

engpb

snofl

170. ar r-&Clei zehen Eo rsrotorb

$o1eeh crdnE erorp6suu@Clpg.

(A) r-6laflsnu.r

(B) errfleinrqer9l

(C) o,i;a+p 6al

(D) or--ne neiucft
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167, Which part of the Himalayan region receive

high rainfall ?

(A) Central

(B) Eastem

(C) Western

(D) North Westem

16E. The river Son originate from :

(A) Amarkandak Plateau

(B) Chota-Nagpur Plateau

(C) Janapavo Hills

(D) Kalagarh

169. The river forms the boundarv
between Nepal and Kumaon in the
mountain.

170. The Northern most group of Islands is

(A)

(B)

(c)

(D)

Ramganga

Tsangpo

Gandak

Kali

collectively called as

(A) Minicoy

(B) Amindivi

(C) Lakshadweep

(D) Madagascar

islands.



rzr. pr6l pe$$ein Eeinou grb Lonorr L-L-rirsofl ar

elru u: ornri Si'6SD,i'4f .areDro$geir6lr
tona: rr-6 crgl ?

(A) $gGlpctuGora5l

(B) Gp.fl

(C) or9lggrpsri

(D) Eer.rsrilars

172. arnara9leu qpu8 u9leb orrou:u u@$p&-
*'rqu: gcBdlu 5lorgr 6rglGlo.ror6 O0"-
6lOs

(A) 6lpng!Penaloaeh

(B) a,9l or.r e n ur rb

(C) aualflsLb

(D) Gun619er.r7$g

173. p16l p6p6ld,, er$leLone enourrlu@rb
on@eoir ororo sn@sornlgLb.

(A) et uremroauuo $onq$n en@seir

(B) 1go$$rfl sn$tec;ir

(C) Gloruuoainr-ar oenp6en@seir

(D) rflpGlaruu oeiruo grrqprtseir

f ze. prfl ge$$gteiren enGou lfl u unrisLb eyrfl -

,9ldlOpgr o (DGlau@&66 ggu
+(9rb.
(A) Clsn$greoa.ru npl

(B) grlooflung

(C) Gluainorarru:nE

(D) Ger.reirarng
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l7l. l^ which of the following districts is Tamil

Nadu, Ayyanar falls is located ?

(A)

(B)

(c)

(D)

Tirunelveli

Theni

Virudhunagar

Sivagangai

172. Mention the major sector which is focused in
Rainbow Revolution.

(A)

(B)

(c)

(D)

Industries

Agriculture

Commerce

Transport

1.73.

174.

type of forests are found mostly

in Tamil Nadu.

(A) Tropical Deciduous forests

(B) Cashew forests

(C) TropicalRainlorests

(D) Sub-tropical thomy bushes

river is originated from
Kaverippakkam Lake ir Tamil Nadu.

(A)

(B)

(c)

(D)

Kottralaiyaar

Aaraniyar

Pennaiyar

Vellar



175. GsnuoruuuurqarLb r.6tinr-91 +$p6n6 pdl$
pnuarir orjp o66yr', i6eir etoro$grohong?

(A) Cle6in6o6ur

(B) q51riGe nr-orL-

(c) p@eng5n

(D) 5lTpgrti(qr+

176. 85!angtb sno$loro ouarccofleb 27'
Gle6bdluroiu GloruuLb topgLb a.rgun$$rr
eTnulfl oaopuGlungSloq 250 G]e.rf. sr6ruru-

u@uooeu eroror ?

(A) etu: or roarr r-ar roorpBano sna-r

$1olal (AM)

(B) e{urorroeinuo {t6ur6IIr e nar$1ora;

(Aw)

(C) stu.:anLoainrsu eiuGluuL9l sno$1oro
(BS)

(D) e-u etu6r eiuGl uu r-91 snopano
(BSh)

177. prflppnurq6i,r 6uu66l6b enmru u @tb
Sr--g16l erar eralpBe uu@-
6lrnsr

(A)

(B)

(c)

(D)

Gonubq$gnri LSrgrfl

u8. E 5longt Lb o nar.r L-L-$$l eb griGoat n St1g6q
er.'.qg pgrororLb errirg e-eir6ng ?

(A) a$prieriB orer-rL-rLb, giflen

(B) gtri& ona.ruu6, er-rgeiusri

(C) GLofqg orrienorLb

(D) Gl u or su nrfl o n ar r-- l-$p eb e-ehen

onneiuGlu r-

I

unnoarnneb LSr-rrr.6l

sBsnan Srr-rril
Losrarn 19rr-rr-61
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175. In which district of Tamil Nadu,
Kottaipattinam fishing yard is located ?

(A) Chennai

(B) Pudukkottai

(C) Thanjavur

(D) Thutthukkudi

176. Which climate has about 27" C and the mean

annual rain{all exceeds 250 cm ?

(A) Tropical Rainy climate (AM)

(B) Tropical Savannah climate (AW)

(C) Tropical Steppe climate (BS)

(D) Sub-hopical Steppe climatt, (BSh)

777 . Plateau found in northem part of Tamil Nadu

is known as :

(A)

(B)

(c)

(D)

Coimbatore Plateau

Paramahal Platcau

Deccan Plateau

Madurai Plateau

178. In which of the following districts, Rourkela

Iron and Steel plant is located ?

(A) Sundargarh District of Orissa

(B) Durg District of Chattisgarh

(C) West Bengal

(D) Hospet in the Bellary district



179. 605n@tLb GpClu Glp@@enenarsafl ein

,6*p-p eifl u:ns 61un1g$5le.

(a) GLarerSl-.gdunarn (i) 274 8t.6

(b) unGuneu-GL-rL-n (ii) 456 61.16

(c) g6ryn-1gor.rno5lu-rri (iii) 2369 A.6

(d) ornqarrndl-G7orn (iv) 1151 6l.Ls

(A) (a)-(il), (b)-(i), (c)-(iv), (d)-(u)

(B) (a)-(iv), (b)-(i), (c)-(iil), (d)-(ii)

(c) (a)-(i), (b)-(ri), (c)-(iii), (d)-(iv)

(D) (a)-(ii), (b)-(iil), (c)-(iv), (d)-(i)

180. ueusonoflei: geingrneug Cl u ltl u: Glpngileir

L9iTGpeLb @$$u.'lne$dr crogeirorg ?

(A) 19rLboru-gGan Glpng!Sr-9l7Gpe6

(B) Clsneirs$pn uurn$p 6lpnSp -

r-9lyGpe6

(C) sgDLopnunii-orGL-n7n CpnSlp-
r-9lqGp+Lb

(D) ogtanry-GenuLbu$gnn, 61uruoqgqg
Clpnpp r-9l7Gpeb

-o0o-
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"179. Match the following National Highways and

their lengths :

(u) DelhiAmbala (i) 274 knl.

(b) Batole-Doda (ii) 456 km

(.) Agra-Gwalior (iii) 2369 km

(d) Varanasi-Rewa (iv) 1161 km

(A) (a)-(ri), (b)-(i), (c)-(iv), (d)-(iii)

(B) (a)-(rv), (b)-(i), (c)-(iii), (d)-(ii)

(c) (a)-(l), (b)-(ii), (c)-(il). (d)-(iv)

(D) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

180. Which of the following is the third largest

industrial region of the world in India ?

(A) The Mumbai Pune indushial region

(B) The Kolkatta High industrial region

(C) The Ahmedabad-Vadora industrial
region

(D) The Madurai - Coimbatore, Bangalore

industrial region

-o0o-
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Candidates should verity the sub.iect ol the question paper given to himiher. lf the subject is changed inform the
Hall Superintendent immediately.

2 lqjluqsoren gD,(r6!gr Lo n6 u ra$grorglr@ oMR erglenu$gnafle ou rfleoe arain 1 -esrg$gr 16 LofgLb
oflann$Clgn1gur9leu ou rfleoe crain 1 -dlcD,ogr 16 araoyugleunen gs6u6is6D6n s6u6rrn" p!"Iuqo. ga[+,
grjluqsaflel a''f)qeheiruq +rflunon g:eopu9lci,r psouebseoen prlurgl, eneGlunuuLb $r-ne,graeil, e-[6;o19l
er9laor$pnenen o$luL9@ 6lcurqLb Gun5l e1!u@Lb arglorsneqoqg&g $rusGor 6ufrruunof rieeh.
Read lnstructions completely and carefully and fill in the details rrom51. tto. t to te in tfre O'-tr,lB Answer Sheet andSl No. 1 lo 16 in the Ouestion Booklet. lf you rail to fill in the detaits ano sign as instiucteO coriectry, you will bepersonally responsible for the consequences arlsing during scanning of youi oun nnJei sneet.

3. peupns gn$p Gau..ruuu@6/6le u.,uuur_nLoeb zehen OMH ergleo.-$gnuseh Lo$LrLgrrqpg n,Opgti
Clsnehoruurrorurgl.
OMB Answer Sheets will not be evaluated il the OMR Answer Sheet is lilled in wrongly/unlilled.

a. er9lorn$6lpn1gur9leb oMR o0orr-$gnafleb eranreoonr ergfGseo pquui@eirar $ L-1#rcfu oqgp Garain@6.
oMR Answar sheet No. should be written in the space provided in the euestion Bo;klei.

.u Qgg of1orn$Glpnlguuneng 180 aflewn&saron 56 u&srirc6rfl6b Glenain@eirorg1. o6laon$ epn6ur-geoen' $lpi^lgLong grdloqgpguurr LglebemGq, orgainonu upnTriae;r er5l arn$6l"pn1g1r.gk, Sn6L1r..
Qgdlarrlseoen $tp&e Geuain@6. orgleun$ Glp n6 u rglein uBe ib 3 eSl6$51 si a.,:en7iao ergtenn&65eir @16
Cl uf gehenanou n cror +rfl u nririeeqrjl.
The Queston Booklet comprises of 56 pages having 180 questions. After being instructed to open the Booklet,
then only the candidates sholrld open the Question Boo(let seals. check wh"ethJr th" eboliet contains lgo
Questions starting from page No. 3 to 52.

o ereoen$g e$arn6oqgLb ueber9leoL-ouaos arglennBseh. gor:Gloung oflarno0flgLb gGri g19 *iflu..rnan e6orr
Lor@GLo zehen5t. peupnan e6teor__aq96g o$u6luairrasir lgeop&cnur_ ,i"i-"1r.
All questions are of MCQ (Multiple choice question) type. There is onlyone correcr answcr'io each quastion.
There wlll be no negatlve marklng lor wiong ansders.

7. ClLong! o,9larn&senen Glsnairu ugp porglI sr6D6rrp5t esieon&sqgLb Stg GlLongleofleb p7uur@eirenan.
(916lp oSgLb gr 6io unrris6Dnp goflr)
All questions other than tanguage questions are in bitingual. (Except Tamit and English subjects)

8 a0arn(&oeir)$efu gouEeeir @gnLglein Gpicfletr Gungi $$p o6larn(6eeh) *ifl Gl+uu.-ruuL LDnLLngJ.
ln event ol any mistake in any question/s, no corrections will be made in the Question/s during the examination.

9. o6leurn$G1pn6nCIcin $rg$ uSlen, G+u.rgr uniuug$Glsar pafluns pruurGrehen 6rggtcocu noucH
WORK Cl+u.rgt unriBe Gouai'n@,b. 6)-p aflenn$Glpnlgurgletllg$g 6l$[isr;a,Jngr.'*.@peir pneheoir
cr51oq Lb atprrisuur_Lonilngl.
Rough work, i, any' may be done in the Question Booklet only in the space providod at the end or lhe Booklet. Do
not tear it off from the Question Booklet. No additional papei shall be'provi'ded.
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11 . ef,1emn$Glgnlgurglg rein OMR osleor$pnorneog perfl-une ouprisuu@Lb'

OMR Answer Sheet will be provided along with Ouestion Booklet separately'

I2. arglenn$Glpnguunengt eflaincmruupn1risq9619 9.50 9.u. 66 olgrirouu@rj:. e9ain66r''lr rpnlrteoh efleurn$

Gtpnglrq J'6g,,i, olrrn ergleor$pnoflo $)1uu Gorainqur er9lou rlri]soren eitlu:ns p[uu Gouair@6.

r o.oig.". ,Jnag 5a". Loeofl gdt615Lb. erpdn rglgrcs gesLuuL_r_ (P$penloru: pgl6e Geuein@6.

o,g *nlGp n6,-., rgeJen pp6pe,r r6in 6rcpgrb rtssLb/agleurn $a;onocb $666ppn s6Dalgt u&eerirsoir

6lUilDGp;, J,fl-no et,is upo,l 4anLoGon $lg6clppn, 9G7 u6oLb Sg6u pCOLbu eulgdlgrpn crot

eriunririaeqLb. egorn$ Glg;n15ur9leb, crr6rGsurn6ugl 6rcptglLb gorp $tgur9lguLb' etorp; etotp

s;ednsnofluu renn rLb Gf p fno6l$gJ orgleurn$ GlpnlSurllenor Lonf$l& Gl€;noir6rr Gorain@6 Gptoq

g:rqoupfsnen ar&sfl&6os r-ooofl t.zs r9l.u.-&66, $9$l Loerfl 1 30 r-91'u -igLb erq&196
ihe Ouestion Booklet will be issued to the candidates at 9.50 am and the candidates must fill in all entries in

euestion Booktet and OMR Aniwer Sheet. Candidales should open the qusstion booklet.seal after a long b'€ll at

10.00 am. After opening the ouestion Booklet, ensure that any page/question is not missing/not printed/torn/

*p""rcJ. tn cise,'you tiid anydefsct anywhere in the O-uestion Booklet, immediately inform the Room lnvigilator

ariOget it replaced by him. Warning Beliwill ring at 1 .25 pm, and the last long bell will ring at 1.30 pm'

13.Gpfeq 6r6i"r, OMR ofleor-$pneir oain, or9len n$ Glpnlguq crain ' Gluuri ofgLb-eosGlu.lnuuLb

Gu neingreoei:seoo, erp6Gtear e,glorn$ Glpnlguq ro$Ern OMR os1orr$pnofleb pluuL-o6h6r 0-p6t
pruu Geuairr@ b
Write your Roll No., OMR Answer Sheet No., Question Booklet Series, Name and put your signature in the space.

providid in the Question Booklet as well as in the OMR Answer Sheot'

14.gelGlorng o$aono$gLb A, B, C, D ereing 6fluugluuut--@ehen pneinlS oooorseir pfuuLo6hdlnr'

gaa*n1g o,genneoarqLb, 56uffrrDro urq$gl, zrirsqg6lq +iflunorg crem s1996 et9leor-u9leoaf

Gpili6p@1oeqrn. oMR oflcoL-$pnoflo ere!orglawno0!61sen pTuuL-@eirar Sr$pctu e rflu--rneur eurL-1iorp

pper'l@arpem g:euLb zrioeng o,glanuanu: 15flur6luaq6 ppa5l@erJpD6ls6n 5(D6DDElp u$6l(!Pooan

G ueono,glooen LoL-@Go uueinu@$p Garaiur@b.

With each question, you wittlind loui possible aniwers, marksd by lhe lettors A, B, C and D. Read each question

carelully, and lind oufwhich answer, according to you is correct. lndicate your answer by darkening the appropriate

clr"i".orptrt"ly in tne Otun ensweiSneet iorresponding lo the question. For marking answe( use Black Ball

Point pen only.

15.OMR orgleor$p n orneogt soflefl poLb m$luL9@ Gleu..ruuu@Lbuq ouqor.rorLots'euuL-@eiror$. Gro[*'flur

lgfluqseoor' sen L-.q,qte n6rglrq6D, e@fl@fl goLb to$lu8@ 61eu.ler5t $uonppndler9l@6 $penrc

ur9l";"*",..,r-..,p n,I(EAg opuOLb 6rUuqsqg6g eflainomruupnTGrJ Glunguunornri

oMR Answe; She;t iJoesigneo toic6mputer-evaiuation. It you do nol follow instructions given above and shown

in the OMFI Answer Sneet, eviluation by computer will becomo difficult. Any resuttant loss to the candidate on the

above account, shall be of the candidate only.

re.Agrd Loarofl geSluupf6 (pein o$pGlon19 etglai'nauruup;nrlgLb Gprieq sl6Dp@rrr oflu@ GlaroflGu:pts

olng. Gp,t6,r et6op6Dru o$r@& Gle<fugrb geinq oMR erglorL_$pnanen etorp sorforsnaoflu u renfluLb

aotrig6" Gerlri"@Lb. orglarn$ Glpnlgurglenor e0mrmruupnTG6 cr@$5t& Cleoo-arnLb'

No candidate should leave the examinaiion hall before the linal bell. The OMR Answer Sheet should be handed

orliio in" noo, tnvigitator betore teaving the examination hall. The candidate is allowed to take the Question

Booklet with him/her
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